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General Intelligence & Reasoning

Six friends, A, B, C, D, E and F, are sitting around a circular
table facing the centre of the table. A is to the immediate left of
E, B is to the immediate right of F, D is second to the left of F.
A and C have equal number of persons between them from both
the ends. Who is sitting between A and F?

1.D 2.E 3.B 4.C

Study the given pattern carefully and select the number that can
replace the question mark (?) in it.

5 7 100
8 9 181
11 10 ?
1. 260 2. 244 3. 255 4. 265

Which number will replace the question mark (?) in the given
series?

61,73,99, 141, 201, ?

1. 281 2.261 3.269 4. 244

%5,110 is to be divided among Rajesh, Vivek and Kripal in such
a way that Rajesh gets double the amount that Vivek gets, and
Kripal gets double the amount that Rajesh gets. How much
money will Kripal get?

1. 32,920 2.%2,188 3.%1,550 4.32,236
Three of the following four letter-cluster pairs are alike in the
certain way and one is different. Pick the odd one out.

1. PSRB : SRPB 2. TUKS : SKUT

3. GMDI : IDMG 4. LKJR : RJKL

Select the option that is related to the third letter-cluster in the
same way as the second letter-cluster is related to the first letter-
cluster.

SPIRIT : TQHSHU :: BAMBOO : ?

1. AZNCPP 2. CZNCPP  3.CZNANN 4. CZNCNN
Among five persons P, Q, R, S and T, T is older than P, Q is
younger than T, S is older than R, and P is older than S but
younger than Who is the oldest among all?

1.P 2.T 3.8 4.Q
Select the correct mirror image of the given M
combination when the mirror is placed at
MN as show below. DF43Y6

N
1. oYerdd 2. 0YEMA 3.9Y&EMA 4. 0AEPIA

Select the figure that will replace the question mark (?) in the
following figure series.

?

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

In a certain code language, ZIGSAW is written as BOHTEX
and BLUFF is written as CMAGG. How will MOVEMENT be
written in that language?

1. NUWINIPV 2. OUWINIPV 3. NUWFNFOU 4. NUWFNIPU
Which letter-cluster will replace the question mark (?) in the
given series?

KLIMC, JJFIX, IHCES, HFZAN, ?

1. HEWWI 2. GDUVI 3. GDWWI 4. GDXWJ
Six friends, K, L, M, N, O and P, are sitting in a straight line. All
are facing north. K is between M and N. O is third to the right
of M. P is third to the left of K. M is to the immediate right of
L. Which two persons are sitting at the corners?

1.Pand O 2.0and N 3.Pand N 4. Nand L
Select the option that is related to the third letter-cluster in the
same way as the second letter-cluster is related to the first letter
cluster.

PRIEST : TSRPIE :: UMPIRE : ?

1. URPMEI 2. URMPIE 3. URPMIE 4. RUPMIE
In a code language, ‘he is waiting’ is written as ‘269°, ‘she is
ready’ is written as ‘915°, and ‘he and she’ is written as ‘271",
What will be the code for the word ‘and’ in this language?

1.9 2.2 3.7 4. 1

In a certain code language. ‘BAYONET” is written as ‘2176552’
and ‘JOKE’ is written as ‘1625°. How will ‘HAPPIER’ be
written as in that language?

1. 8166959 2. 8177918 3. 9188959 4. 8177959
Select the option that is NOT embedded in the given figure as
its part (rotation is NOT allowed).

ES
o R

—

L2 2 ]

Study the given pattern carefully and 8 7 224

select the number that can replace the

question mark (?) in it. 11 13 572
12 15 ?

1. 360 2.720 3. 456 4. 320

Which letter-cluster replace the question mark (?) in the given
series?

london, orgalk, rutxih, ?

1. TXWVFJ] 2. UXWATFE 3. UXWUFE 4. UYWUEE
Which letter-cluster will replace the question mark (?) in the
given series?

KJS, POX, ?,ZYH

1. STB 2. UTC

3. UTG 4. USD
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Select the correct option that indicates the arrangement of the
following words in a logical and meaningful order.

1. Wearing 2. Measurement
3. Designer dress 4. Stitching
1.2,4,3,1 2.3,1,4,2 3.1,2,3,4 4.2,3,1,4

If the sum of a number, its square and its cube is 584, then what
is the number?
1.8 2.6 3.7 4.9
Study the given pattern carefully and

18 21 12
select the number that can replace the

question mark (?) in it. 7 15 11
175 540 ?

1. 273 2. 150 3.253 4.303

Pointing towards a boy, Sarika said, “He is my sister’s son’s

father’s wife’s only sister’s son.” How is Sarika related to the

boy?

1. Sister 2. Maternal grandmother

3. Maternal aunt 4. Mother

Which number will replace the question mark (?) in the given
series?

55, 68, 81,94, 2, 120

1. 105 2. 107 3. 111 4. 109

Which number will replace the question mark (?) in the given
series?

115, 107, 98, 88, 77, 65, ?

1. 52 2.50 3. 61 4. 57

If ‘A’ denotes ‘addition’, ‘B’ denotes ‘multiplication’, ‘C’
denotes ‘subtraction’ and ‘D’ denotes ‘division’, then what will
be the value of the following expression?
S55A5B(7TA4)C75D(25D5)="

1. 95 2. 110 3. 100 4. 105

If the following words are arranged in the order as they would
appear in an English dictionary, which word would come at the

third place?

1. Place 2. Player 3. Plough

4. Plaster 5. Plaque

1. Plaque 2. Player 3. Plough 4. Plaster
Three Statements are given, followed by three conclusions

numbered I, IT and I1I. Assuming the statements to be true, even
if they seem to be at variance with commonly known facts,
decide which of the conclusions logically follow(s) from the
statements.

Statements:

All classroom are schools.

No school is a park.

All houses are parks.

Conclusions:

I. No house is a classroom

I1.No park is a classroom.

II1. No school is a house.

1. All of the conclusions follow 2. Only conclusion II follow
3. Only conclusion I follows 4. Only conclusion III follows
Five girls, A, B, C, D and E, travel to only one of the following
five cities: Mumbai, Delhi, Kolkata, Chennai and Jaipur. E does
not travel to Kolkata, Mumbai or Chennai. D does not travel to
Mumbai, Chennai or Delhi. A travel to Jaipur. C does not travel
to Mumbai. To which city does C travel?

1. Kolkata 2. Chennai 3. Jaipur 4. Delhi

Two statements are given, followed by three conclusions
numbered I, IT and I1I. Assuming the statements to be true, even
if they seem to be at variance with commonly known facts,
decide which of the conclusions logically follow(s) from the
statements.

Statements:

All teachers are engineers.

All clerks are teachers.

31.
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33.
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Conclusions:

I. Some engineers are clerks.

II.  Some teachers are clerks.

II1. Some clerks are not engineers.

1. Only conclusions I and III follow

2. Only conclusions I and II follow

3. All of the conclusions follow

4. Only conclusion II and III follow

One morning, Dhvani and Preet were sitting in a park facing
each other. If Preet’s shadow fell to the left of Dhvani, then in
which direction was Dhvani facing?

1. North 2. West 3. East 4. South
Three of the following four letter-clusters are alike in a certain
way and one is different. Pick the odd one out.

1. TNH 2.LFZ 3. PJF 4. DXR
Select the Venn diagram that best illustrates the relationship
between the following classes.

Males, Females, Daughters

1.(@ z.@) 3@@ +(00)

‘A # B’ means ‘A is the husband of B’.

‘A @ B’ means ‘A is the daughter of B’.

‘A & B’ means ‘A is the sister of B’.

IfP& Q @D #K @ S # T, then which of the following
statements is NOT correct?

1. S is the maternal grandfather of

2. P is the daughter of K.

3. T is the mother of K.

4. D is the daugther-in-law of T.

Select the option that is related to the third letter-cluster in the
same way as the second letter-cluster is related to the first letter-
cluster.

Carpet : ractep :: goblet : ?

1. botgfl 2. bogtel 3. cogtle 4. dpotel
Study the given patten carefully and select the number that can
replace the question mark (?) in it.

(15,1,7,32) (20,2,7,47) (13, 3,7, 50) (7,4, 2, 48)

1.1 2.8 3.5 4.3

Select the number that is related to the third number in the same
way as the second number is related to the first number.
12:36::18:?

1. 64 2. 48 3.83 4. 81

Select the number from among the given options that can
replace the question mark (?) in the following series.
1,2,4,4,9,6,7,8,25,10

1.8 2.9 3.16 4. 11

Suyash starts walking from his office and walks 40 m towards
the south. From there, he turns right and walks 35 m, and then
he turns right again and walks 70 m. Finally he turns right
one more time and walks 75 m to reach his home. What is the
shortest distance between his office and his home?

1.40 m 2.50m 3.70 m 4.85m
Select the figure that will replace the question mark (?) in the
following figure series.

=} o o
o o ol oo ?
+ e +
=}
1.|O 2 o] 3. (&) 4.0
+ o} + o + + O
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Which two signs and two numbers should be interchanged in
the following equation to make it correct?

14x8+64+32-2 88

1. 8 and 32; x and + 2. 14 and 2; x and +

3. 8and 2; —and + 4. 32 and 64; + and ~

Udai walks 25 m towards the west, and then he turns left and
walks 55 m. Then, he takes a right turns and walks 45 m. Then
he turns right again and walks 70 m. In which direction and
what distance should he walk now to reach 15 m north of the
stating point?

1. West; 70 m 2. North; 35 m 3. East; 45 m 4. East; 70 m
Three statements are given, followed by three conclusions
numbered L, I and I1I. Assuming the statements to be true, even
if they seem to be at variance with commonly known facts,
decide which of the conclusions logically follow(s) from the
statements.

Statements:

Some plants are flowers.

Some flowers are fruits.

All flowers are gardens.

Conclusions:

I.  Some gardens are plants.

II. Some fruits are gardens.

III. Some gardens are flowers.

1. All of the conclusions follow

2. Only conclusion I and III follow

3. Only conclusion I and II follow

4. Only conclusions II and III follow

Select the correct combination of mathematical signs that can
sequentially replace the * signs from left to right to balance the
following equation.

30*¥3*16*4 %247 *70

1. X, 5, +,— = 2.+ X, — +,= 3.X,+,+ —
If 16 January 2015 was Friday, then what was the day of the
week on 16 January 2010?

1. Monday 2. Tuesday 3. Saturday 4. Sunday

A paper is folded and cut as shown below. How will it appear
when unfolded?

= 4% 5=

>

_________ +

e LT T &

0 0] Lo by L &) [0

Select the correct option that indicates the arrangement of the
given words in a logical and meaningful order.

1. Food Processing 2. Plantation

3. Harvesting 4. Superstore

5. Packaging

1.2,3,1,5,4 2.2,1,5,4,3 3.1,3,4,2,5 4.3,2,1,5,4
Abhishek is Avritti’s husband. Anvi and Ankur are twins. Rubi
is Avitti’s husband’s sister. Ankur is Abhishek’s son. Richa is
Rubi’s daughter. How is Richa related to Anvi?

1. Mother 2. Sister-in-law 3. Sister 4. Cousin
IfG=E<D<Rand E=Y>K>Q, then which of the following
options is NOT correct?

1.G<Q 2.R>Q 3.G<R
In the following Venn diagram, the
rectangle stands for ‘students’ the
triangle stands for ‘sportsperson’ and
the circle stands for ‘hostellers’. The
given numbers represent the number of
persons in that particular category. How
many students are both hostellers and
sportspersons.

1.22 2. 15

4. Y<R

22
30

10
32| 15

25

3.32 4. 10
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In March 2020, Prime Minister Narendra Modi handed over
his social media account to Indian women achievers to share
their achievements. Who among the following was NOT one of
them?

1. Sneha Mohandoss 2. Arifa Jan

3. Vijaya Pawar 4. Vajira chitrasena

Which is the highest peak of the Aravalli Mountain Range?

1. Saltoro Kangri 2. Chaukhamba

3. Kamet 4. Guru Shikhar

Who among the following is one of the member of the Pakistan
National Movement, who had coined the name Pakistan in
1933?

1. Choudhry Rehamat Ali 2. Muhammad Umar

3. Maulana Azad 4. Mohammad Ali Jinnah

The Union Government of India launched the PM SVANidhi
scheme in June 2020 for the benefit of:

1. farmers 2. small scale industries

3. street vendors 4. migrant labourers

India ranked  on the Global Hunger Index 2019.

1. 98" 2. 102 3. 104" 4. 92

In February 2020, the Indian Railways launched its first
‘Restaurant on Wheels’. The restaurant was inaugurated at the
circulating area of the Railway Station.

1. Chennai Central 2. Trivandrum Central

3. Asansol 4. Cuttack

On which of the following dates is the Global Handwashing
Day observed?

1. 4 March 2. 6 December 3. 24 June 4. 15 October
In which of the following cities has the memorial dedicated to
the 2nd World War been built by Japan?

1. Dispur 2. Imphal 3. Agartala 4. Gangtok

In March 2020, the National Handicapped Finance and
Development Corporation (NHFDC) organised a week long
fest for promoting entrepreneurship and knowledge among the
Divyangjan community. The fest was called:

1. uttam 2. ekam 3. shreshth 4. pratham

In which of the following countries is the headquarters of the
International Association of Athletics Federation (IAAF) located?
1. India 2. Monaco 3. Brazil 4. Japan

Who among the following was the recipient of the ‘National
Award for Young Women Showing Excellence through
Application of Technology for Societal Benefit’ in March
2020?

1. Shweta Rawat 2. Ritu Karidhal

3. Muthayya Vanitha 4. Gagandeep Kang

Which of the following states has an underground bunker
museum in the official residence of its Governor?

1. Karnataka 2. Tamil Nadu 3. Maharashtra 4. Gujarat
Grafting and are horticulture techniques used to join
parts from two or more plants, so they appear to grow as a
single plant.

1. layering 2. cutting 3. budding 4. fusion

Alum is made by dissolving bauxite in:

1. phosphoric acid 2. citric acid

3. boric acid 4. sulphuric acid

Which of the following Amendment Acts amended the
Preamble of the Constitution for the words ‘unity of the Nation’
to the words ‘unity and integrity of the Nation’?

1. 35th Amendment Act 2. 105th Amendment Act

3. 42nd Amendment Act 4. 81st Amendment Act
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Theyyam is the ritual art form of which of the following states?
1. Karnataka 2. Kerala 3. Goa 4. Tamil Nadu
Through which of the following states does the Chambal river,
a tributary of Yamuna river, NOT pass?

1. Rajasthan 2. Madhya Pradesh

3. Uttar Pradesh 4. Gujarat

Which of the following Articles of the Indian Constitution
gives Centre the power to take over a state administration on
the recommendation of the Government?

1. Articles 243 2. Articles 356

3. Articles 124 4. Articles 105

Which of the following terms best describes a scenario in which
an economy faces both inflation and decline in real output at the
same time?
1. Recession 2. Reflation 3. Deflation 4. Stagflation
Who among the following Indian boxers secured second place
in men’s 69 kg weight category at the Asian Boxing Olympic
Qualifiers held in Amman, Jordon?

1. Ashish Kumar 2. Vikas Krishan

3. Amit Panghal 4. Manish Kaushik

The President of India may be removed from office by
impeachment for:

1. any criminal offence

2. violation of the Constitution

3. unsoundness of mind 4. moral degradation

With which of the following nations did India ink a landmark
‘Defense Pact’ In June 2020 to access each other’s bases?

1. Australia 2. Israel 3. Mongolia 4. Taiwan

As per the Census of India 2011, which of the following had the
least population density among the Union Territories?

1. Andaman and Nicobar Island
2. Dadra and Nagar Haveli

3. Puducherry

When the heavier component in a mixture settles after water is
added to it, the process is called .

1. sedimentation 2. sieving

3. yarning 4. threshing

With which of the following countries is ‘Khon’, the masked
drama dance performance depicting the glory of Lord Rama,
associated?
1. Vietnam

4. Lakshadweep

2. Indonesia 3. Thailand 4. Japan
Which of the following states celebrates a state festival named
‘Bathukamma’?

1. Tamil Nadu 2. Kerala 3. Telangana 4. Odisha
Which of the following is NOT a Mendelian disorder?

1. Turner Syndrome 2. Haemophilia

3. Phenylketonuria 4. Sickle-cell anaemia

The Union Government has given in-principle approval for
setting up a major port at a place called Vadhavan. The place is
located in:

1. Gujarat 2. Maharashtra

3. Andhra Pradesh 4. Odisha

Which of the following states is the second most populous state
in India as per Census 20117

1. Maharashtra 2. Madhya Pradesh

3. West Bengal 4. Rajasthan

In which of the following states is the pre-historic site called
Daimabad located?
1. Madhya Pradesh
3. Maharashtra

2. Gujarat
4. Uttar Pradesh
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Jhijhiya Dance is a popular folk dance of which of the following
states?

1. Bihar

3. Madhya Pradesh
Which of the following devices is used in digital circuits so

2. Uttar Pradesh
4. Haryana

that information stored in large computer memories is NOT lost
during a momentary electric power failure?

1. Themistor 2. Diode 3. Transmitter 4. Capacitor
Which of the following countries won the ICC Women’s T20
World Cup, 20207

1. Sri Lanka 2. India 3. Australia 4. England
Which of the following is a technique of watering plants by
making use of narrow tubings which deliver water directly at
the base of the plant?
1. Sprinkler irrigation 2. Drip irrigation
3. Step farming 4. Sub-irrigation

Through which of the following Constitution Amendments did
the Right Property cease to exist as a Fundamental Right?

1. 42m 2. 45 3. 434 4. 44t

Who among the following Governor General of India
formulated the Doctrine of Lapse to deal with the issue of
succession in India states during colonial rule?

1. John Shore 2. Lord Dalhousie

3. Sir John Macpherson 4. Lord Canning

In which of the following years did Jahangir die?

1. 1675 2. 1627 3. 1559 4. 1557
Which of the following Articles of the Constitution of India
declares the age of 35 years as one of the eligibility criteria for
the post of the President of India?

1. Article 60 2. Article 62 3. Article 56 4. Article 58
The book titled ‘Speaking Truth to Power: My Alternative
View’ is a collection of the articles by:

1. Yashwant Sinha 2. P Chidambaram

3. Arun Shourie 4. Mani Shankar Aiyar

Who among the following has virtually released the book of
English poems titled ‘OH Mizoram’ written by P S Sreedharan
Pillai in December 2020?

1. Amit Shah 2. M Venkaiah Naidu

3. Jitendra Singh 4. Narendra Modi

Which of the following gases is filled into incandescent bulbs to
prolong the life of the filament?

1. Ozone 2. Nitrogen

3. Oxygen 4. Carbon dioxide

Which of the following rivers has been mentioned as ‘Vitasta’
in Vedic literature?

1. Chenab 2. Beas 3. Jhelum 4. Ravi
India’s oldest and largest independent, non-profit economic
policy research institute, NCAER (National Council of Applied
Economic Research), was established in which of the following
years?

1. 1965 2.1952 3. 1959 4. 1956

In human body, which of the following types of veins are
located within muscle tissue and have a corresponding artery
nearby?

1. Deep veins 2. Superficial veins
3. Systemic veins 4. Pulmonary veins

As per the United States Department of Agriculture, which of
the following soil orders is most widely distributed in India?

1. Aridisols 2. Alfisols 3. Inceptisols 4. Vertisols
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The naturally occurring gas that is generated by the breakdown

of organic matter by anaerobic bacteria and is used in energy

production is called:

1. Compressed Natural Gas 2. Biogas

3. Natural gas 4. Liquified Petroleum Gas

Which of the following is the correct description of the place

called ‘Naubat Khana’ during the Mughal period?

1. Drum house

2. House for private discussions

3. Office of the security-in-charge of the palace

4. Private treasury or royal women

The reports of the Comptroller and Auditor-General of India

relating to accounts of a State are:

1. Submitted to the Governor of the State, who shall cause them
to be laid before the Legislature of the State

2. Uploaded on the official website of the comptroller and
Auditor-General to enable the general public to know
whether the public money has been well spent by the public
authorities

3. Submitted to the Finance Minister of that State for
compliance of the audit observations

4. Submitted to the President, who causes them to be laid
before each House of Parliament

Which of the following is the wild habitat of pygmy hogs?

1. Manas National Park 2. Jim Corbett National Park

3. Kanha Tiger Reserve 4. Rajaji National Park

. For which of the following countries does tennis player Novak
Djokovic play?
1. Austria 2. Spain 3. Serbia 4. France

English Comprehension

101.

102.

103.

104.

Select the most appropriate option to improve the underlined

segment in the given sentence. If there is no need to improve

it, select ‘“No improvement required’.

He is no clever to make sound business decision.

1. not clever to be making 2. No improvement required

3. not clever enough to make 4. not enough clever to make

Select the correct direct narration of the given sentence.

The manager suggested to his team that they postpone the

meeting until all of them had the information required.

1. The manager asked his team, “We will postpone the meeting
until all of you have the required information.

2. The team told the manager, “Let us postpone the meeting
until all of us have the information required.

3. The manager told his team, “Postpone the meeting until all
of you have the information required.”

4. The manager said to his team, “Let us postpone the meeting
until all of you have the information required.”

Select the most appropriate ANTONYM of the given word.

PRODUCE (verb)

1. harvest 2. arrange 3. yield 4. destroy

Select the correct indirect narration of the given sentence.

The coach said to her, “First relax thoroughly before the game

starts”.

1. The coach asked her to relax throughly before the game
started first.

2. The coach asked her to relax before the game starts throughly.

3. The coach told her that she should first relax thoroughly
before the game started.

4. The coach advised her first to relax thoroughly before the
game started.

105.

106.

107.

108.

109.

110.

111.

112.

113.

114.
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Select the correct passive form of the given sentence.

The locusts have attacked the crops in Western India.

1. The locusts in Western India have been attacked by the
Ccrops.

2. The crops in Western India have been attacked by the locusts.

3. The corps in Western India have attacked the locusts.

4. The crops in Western India were attacked by the locusts.

In the sentence identify the segment that contains a

grammatical error.

He told me that he don’t like people who are not genuinely

interested in helping others.

1. are not 2. told me that

3. interested in helping 4. he don’t like

Select the most appropriate ANTONYM of the given word.

Moderate

1. Medium 2. Temperate 3. Easy 4. Extreme

Given here are four sentence. The first sentence is the correct

order, while the rest of the sentence are jumbled. Pick the

option that gives their correct order.

A.Raja Ravi Verma was a famous Indian painter.

B.He was also known for making affordable prints of his
paintings available to the public.

C.His works were a fusion of European art and Indian
sensibility.

D.This enhanced the interest of public in fine arts.

1. ACBD 2. ADBC 3. ABCD 4. ADCB

Select the most appropriate meaning of the given idiom.

To make up for

1. to praise someone to get something for oneself

2. to replace something that is lost or damaged

3. to help to make something possible

4. to prepare or arrange something

Select the most appropriate meaning of the given idiom.

To cut corners

1. To reduce corners in a building to save space

2. To save money and economise

3. To cut the corners of a cloth for stitching

4. To remove sharp edges in furniture

Select the correct active voice of the given sentence.

If our liberty has to be maintained, then it must be fought for.

1. If we have to maintain our liberty, then it must be fought
for.

2. If we have to maintain our liberty, then we must fight for it.

3. If our liberty has to be maintained, then we must fight for it.

4. If our liberty has to maintain, then we fight for it.

Select the option that expresses the given sentence in active

voice.

Let a strict eye be kept on rumour mongers.

1. Keep a strict eye on rumour mongers.

2. Let rumour mongers keep a strict eye.

3. Rumour mongers should keep a strict eye.

4. You should have kept a strict eye on rumour mongers.

Select the most appropriate synonym of the given word.

HUGE

1. far 2. small 3. big 4. embrace

Select the correct indirect form of the given sentence.

“Put this suitcase in the first class compartment,” said Mr. Dey

to the porter.

1. Mr. Dey requests the porter to put that suitcase in the first
class compartment.

2. Mr. Dey told the porter to put that suitcase in the first class
compartment.
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3. Mr. Dey asked the porter to put this suitcase in the first class
compartment.

4. Mr. Dey told the porter that he should put that suitcase in
the first class compartment.

Given here are four sentence. The first sentence is in correct

order, while the rest of the sentences are jumbled. Pick the

option that gives their correct order.

A.He dipped his fingers in the milk and thrust them into the
fawn’s soft wet mouth.

B. So, he dipped his fingers again and let the fawn suck them.

C.When he withdrew them, the fawn bleated frantically.

D.It sucked greedily.

1. ACBD 2. ADCB 3. ABDC 4. ABCD
Select the most appropriate option to fill in the blank.

I will be joining the office _ a week’s time.

1. by 2.in 3. at 4. during
Identify the segment in the sentence which contains a

grammatical error.
More than 30 people were arresting on suspicion of terrorism
offences in Jammu and Kashmir.

1. More than 30 people 2. in Jammu and Kashmir

3. were arresting

4. on suspicion of terrorism offences

Select the most appropriate option to substitute the underlined
segment in the given sentence If no substitution is required,
select ‘No substitution required’.

Any of the boy in my team are very intelligent.

1. All the boy 2. Some of boys

3. No substitution required 4. Some of the boys

Select the most appropriate ANTONYM of the given word.
BORING
1. enduring 2. supporting 3. exciting 4. preventing
Select the option that expresses the given sentence in passive
voice.

His employer trusts him completely.

1. He has been completely trusted by his employer.

2. He was completely trusted by his employer.

3. His employer was completely trusted by him.

4. He is completely trusted by his employer.

Select the most appropriate meaning of the given idiom.
Under the weather
1. Bright and sunny
3. Not feeling well

2. Damp and wet

4. In good weather

Select the option that expresses the given sentence in passive
voice.

The gardener pruned all the rose bushes.

1. All the rose bushes are being pruned by the gardener.

2. All the rose bushes were pruned by the gardener.

3. All the rose bushes was pruned by the gardener.

4. All the rose bushes have been pruned by the gardener.
Select the most appropriate ANTONYM of the given word.

Hospitable
1. Sick 2. Rude 3. Gracious 4. Cordial
Select the option that expresses the given sentence in direct

speech.

The officer asked the accountant why the accounts had not

been reconciled.

1. The officer said to the accountant, “Why have the accounts
not being reconciled?”

2. The officer said to the accountant, “Why the accounts had
not been reconciled?”

125.

126.

127.

128.

129.

130.

131.

132.
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3. The officer said to the accountant, “Why the accounts have
not been reconciled?”

4. The officer said to the accountant, “Why have the accounts
not been reconciled?”

Fill the blank with the most appropriate word.

Your son hasn’t caused any problems; in fact, he has been

very .

1. cooperated 2. cooperation

3. cooperative 4. cooperatingly

Select the option that expresses the given sentence in reported

speech.

Ranjan said to his boss, “Will you promote me by the end this

year?”

1. Rajan asked his boss if he would promote him by the end of
this year.

2. Rajan asked to his boss if he will promote him by the end of
that year.

3. Rajan asked his boss that if he will promote him by the end
of this year.

4. Rajan asked his boss if he would promote him by the end of
that year.

Select the option that arranges the given sentences in the

correct sequence. The first sentence is in the correct position.

A.At a school function, after the school prayer, the Principal
welcomes the chief guest.

B. This is followed by a variety entertainment programme by
the school children.

C.The function comes to an end with the national anthem.

D.Then, the chief guest gives his speech and distributes prizes
to students.

E. The assistant principal then proposes the vote of thanks.

1. ACBED 2. AEDCB 3. ABDEC 4. ABEDC

Given here are four sentences. The first sentence is in correct

order, while the rest of the sentences are jumbled. Pick the

option that gives their correct order.
A. Thick socks and tight shoes are worn in winters.
B. They also leave no space to move about in.
C. Hence, the skin dries up and tears.
D. These prevent the feet from receiving enough air.

1. ABDC 2. ACDB 3. ADBC 4. ACBD

Fill in the blank with the most appropriate word.

Gravity not only causes bodies to fall but also  their speed.

1. causes 2. decreases 3. increases 4. adds

The following sentence has been split into four segments.

Identify the segment that contains a grammatical error.

It is difficult to say/which of the/two girls in that house/is the

eldest?

1. is the eldest 2. It is difficult to say

3. two girls in that house 4. which of the

Given here are four sentences. The first sentence is in correct

order, while the rest of the sentences are jumbled. Pick the

option that gives their correct order.

A.The Rajasthani men’s style of dressing is very classical.

B.How the pagri is tied varies according to the region the
people belong to.

C.It is commonly known as ‘pagri’ or ‘safa’.

D.The turban forms the most traditional form of their dress.

1. ACBD 2. ABCD 3. ACDB 4. ADCB

Select the most appropriate option to substitute the underlined

segment in the given sentence. If no substitution is required,

select ‘No substitution’.

Are you typing to say that you are stupid so proud of it?

1. but 2. so that 3. though 4. No substitution
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133.

134.

135.

136.

137.

138.

139.

140.

141.

Select the most appropriate option to substitute the underlined

segment in the given sentence. If no substitution is required,

select ‘No substitution’.

I had no choice but from agree to the terms of the contract.

1. but to 2. No substitution

3. but for 4. but was

Select the correct passive voice of the given sentence.

They switched off lights in memory of the martyrs.

1. Lights were switched off by them in memory of the martyrs.

2. Lights had been switched off in memory of the martyrs by
them.

3. Lights have been switched off in memory of the martyrs by
them.

4. Lights were being switched of in memory of the martyrs by
them.

Select the correct indirect form of the given sentence.

The child said, “Will we stay here tonight?”’

1. The child asked if they would stay there that night.

2. The child asked if they will stay here that night.

3. The child asked will we stay here tonight.

4. The child asked if we would stay there tonight.

In the given sentence, identify the segment which contains a

grammatical error.

The migrating labourers were served hot meals for every town

or village on their way.

1. on their way

3. migrating labourers

Select the most appropriate option to substitute the underlined

segment in the given sentence. If there is no need to substitute

2. for every town
4. were served

it, select ‘No substitution’.

Many of the food required for the moving migrant workers is
arranged by the state government.

1. Much of food 2. Any of the food

3. Most of the food 4. No substitution

The following sentence has been split into four segments.
Identify the segment that contains a grammatical error.

In about two months,/our family will be/leaving to Australia/
to settle there.

2. to settle there

4. leaving to Australia

1. In about two months
3. our family will be
Select the most appropriate option to substitute the underlined
segment in the given sentence. If no substitution is required,
select ‘No substitution’.

Impending natural disasters produce us constant worry.

1. instill 2. provoke
3. cause 4. No substitution
Select the most appropriate synonym of the given word.

Emblem

1. Refinement 2. Symbol 3. Problem

Select the correct active form of the given sentence.

Hundreds of villages in West Bengal have been davastated by

Cyclone Amphan.

1. Cyclone Amphan has devastated hundreds of villages in
West Bengal.

2. Cyclone Amphan is devastating hundreds of villages in
West Bengal.

3. Cyclone Amphan has been devastating hundreds of villages
in West Bengal.

4. Cyclone Amphan was devastating hundreds of villages in
West Bengal.

4. Expression

142.

143.

144.

145.

146.

147.

148.

149.

150.

151.
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Select the most appropriate meaning of the given idiom.
To get cold feet

1. Not to think clearly

2. To become afraid to do something

3. To dip one’s feet in cold water

4. To get frost bite in winter

Select the most appropriate synonym of the given word.
Carnage

1. Slaughter 2. Plague 3. Lust 4. Revelry
Select the correct active voice of the given sentence.
Panic has been caused by the sudden lockdown.

1. The sudden lockdown is causing panic.

2. The sudden lockdown is the cause of panic.

3. The sudden lockdown has caused panic.

4. Panic is being caused by the sudden lockdown.

Select the most appropriate meaning of the given idiom.
The apple of someone’s eyes

1. the apple that is rotten and irritating one’s eyes

2. the person that someone loves and is proud of

3. the special apple that someone has bought

4. the apple a day that keeps the doctor away

In the given sentence, identify the segment which contains a
grammatical error.

The staff is being advise to maintain distance while seated in
office.

1. The staff 2. to maintain
3. in office 4. is being advise
Identify the segment in the sentence which contains a

grammatical error.

A writer who wrote this book has been selected for this year’s

literature award.

1. has been selected

3. wrote this book

4. for this year’s literature award

Select the most appropriate option to improve the underlined

segment in the given sentence. If their is no need to improve

it, select ‘No improvement required’.

He waves to me whoever he sees me at the window.

1. whenever 2. whatever

3. No improvement required 4. wherever

Select the correct indirect form of the given sentence.

Raghav said, “You should take a week to complete the job.

In case you don’t, just let me know how much time you will

need.”

1. Raghav suggested that I should take a week to complete the
job. He further said that in case I didn’t, I should let him
know how much time I would need.

2. Raghav was saying that I should take a week to complete
the job. He was also saying that in case I didn’t, I should let
him know how much time I would need.

3. Raghav suggested that he would take a week to complete
the job. Her further said that in case he didn’t, I should let
him know how much time I would need.

4. Raghav said that I should take a week to have completed the
job. He further said that in case I couldn’t, I should let him
know how much time I needed.

Select the most appropriate ANTONYM of the given word.

Negligent

1. Calm 2. Careful 3. Careless 4. Composed

Identify the segment in the sentence which contains a

grammatical error.

A heat wave is declare when the maximum temperature hits

45° Celsius or is above 40° Celsius in summer.

1. or is above 2. is declare

4. when the

2. A writer who

3. A heat wave
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Select the most appropriate option to substitute the underlined
segment in the given sentence. If no substitution is required,
select ‘No substitution’.

Some people fear of groups results in long-silences or
excessive talking.

1. Some people’s 2. Some of the people
3. Some people’s 4. No substitution
Select the most appropriate option to substitute the underlined

segment in the given sentence. If there is no need to substitute

it, select “No substitution’.

You should exercise regularly in the morning even if you may

remain fit.

1. so that 2. because

3. in case 4. No substitution

Select the correct direct narration of the given sentence.

You have asked Varun why he feels this is important for him.

1. You ask Varun, “Why do you feel that is important to you?”

2. You have asked Varun, “Why do you feel this is important
for you?”

3. You asked Varun, “Why do you feel this is important for
him?”

4. You have asked Varun, “Why you feel this is important to
you?”

Select the most appropriate synonym of the given word.

SUPPORTING

1. applauding 2. agreeing 3. disagreeing 4. arguing

Select the correct direct narration of the given sentence.

I told my driver that it was raining heavily and requested him

to drive slowly.

1. I told my driver, “It has been raining heavily and I am
requesting to drive slowly.”

2. “It is raining heavily”, I told my driver and asked, “Would
you drive slowly?”

3. “It is raining heavily. Please drive slowly,” I said to my
driver.

4. I said to my driver, “It was raining heavily. Can you please
drive slowly?”

In the given sentence. Identify the segment that contains a

grammatical error.

The backbone in the human body is also called as the vertebral

column.

1. is also called 2. as the vertebral column

3. in the human body 4. The backbone

Select the option that expresses the given sentence in reported
speech.

You said, “I will bake a walnut cake.”

1. You told that you would baked a walnut cake.

2. You said that you will bake a walnut cake.

3. I said that you will bake a walnut cake.

4. You said that you would bake a walnut cake.

Select the most appropriate option to improve the underlined
segment in the given sentence. If there is no need to improve
it, select ‘“No improvement required’.

The little girl chatters away as she hurry up the road with her
mother.

1. hurries down 2. No improvement required
3. hurry on 4. hurried up
Select the correct passive voice of the given sentence.

I have written a very strong letter to the local administration

regarding the deteriorating law and order situation.

1. The local administration has written a very strong letter to
me regarding the deteriorating law and order situation
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2. A very strong letter has been written by me to the local
administration regarding the deteriorating law ans order
situation.

3. The local administration is writing a very strong letter
regarding the deteriorating law and order to me.

4. A very strong letter was written to the local administration
regarding the deteriorating law and order situation by me.

161. Select the correct active form of the given sentence.

Everyone was charmed by her fine dance performance.

1. Her fine dance performance will charm everyone.

2. Her fine dance performance has charmed everyone.

3. Her fine dance performance charmed everyone.

4. Her fine dance performance was charming to everyone.

162. Select the most appropriate option to fill in the blank.
The tiger is gradually _ a rare species.
1. became 2. becoming 3. become 4. has become
163. The following sentence has been split into four segments.
Identify the segment that contains a grammatical error.
The book that/I lost it/is too expensive/for me to buy now.

1. is too expensive 2. The book that

3. for me to buy now 4. I lostit
164. Select the most appropriate option to fill in the blank.

She is as fearless _ atigress.

1. as 2. 50 3. also 4. like
165. Select the most appropriate synonym of the given word.

Batter

1. Struggle 2. Beat 3. Clash 4. Fight
Comprehension:

In the given passage some words have been deleted. Fill in
the blanks with the help of the options given. Select the most
appropriate option for each number.

One day, my six-year-old sister (1) _ us which career
she should (2)  for. My father suggested (3)  she
should become a doctor, (4) ~ my mother said she could
(5) _ a newspaper reporter. I (6)  she would make a
(7) _ teacher. Afterabrief(8)  my sister declared, “I will
become (9) _ actress. Then I will getan (10) _ to play all
these roles.”

166. Select the most appropriate option to fill in blank no. 1.

1. ask 2. asking 3. asked 4. asks
167. Select the most appropriate option to fill in blank no. 2.
1. pick 2. choose 3. opt 4. select
168. Select the most appropriate option to fill in blank no. 3.
1. so 2. such 3. that 4. this
169. Select the most appropriate option to fill in blank no. 4.
1. why 2. where 3. while 4. what

170. Select the most appropriate option to fill in blank no. 5.

1. assume 2. become 3. develop 4. evolve
171. Select the most appropriate option to fill in blank no. 6.

1. proposed 2. regarded 3. considered 4. believed
172. Select the most appropriate option to fill in blank no. 7.

1. able 2. ripe 3. fine 4. sure
173. Select the most appropriate option to fill in blank no. 8.
1. silence 2. space 3. stop 4. peace
174. Select the most appropriate option to fill in blank no. 9.
1. the 2. one 3.a 4. an
175. Select the most appropriate option to fill in blank no. 10.
1. image 2. example 3. opportunity 4. event
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Comprehension:

In the given passage some words have been deleted. Fill in
the blanks with the help of the options given. Select the most
appropriate option for each number.

Another farmer’s cotton harvest increased from 10 quintals to 14

quintals (1) using pesticides and fertilizers on the suggestion
2) the local agriculture extension officer. “I (3)

doubts as I was going for organic cotton for the (4) time”, he
said, “But I saved eight thousand rupees per acre (5) costs”.

He sold his cotton for almost seven lakhs, (6) he wants to use
for his daugther’s studies and to (7) a new house. Another
farmer said he’s got the first (8) crop’ of his life this year.
The 53-year-old used to grow red gram on his (9) field. “But
thanks to a government project, my village tank is full and I could
(10) paddy in the Rabi season. “He reaped 66 quintals from
his two acres.

176. Select the most appropriate option to fill in blank no. 1.

1. for 2. without 3. over 4. with
177. Select the most appropriate option to fill in blank no. 2.
1. with 2. for 3. of 4. to

178. Select the most appropriate option to fill in blank no. 3.

1. have had 2. didn’t have 3. have 4. had
179. Select the most appropriate option to fill in blank no. 4.
1. next 2. first 3. last 4. future
180. Select the most appropriate option to fill in blank no. 5.
1. by 2. as 3.on 4. from
181. Select the most appropriate option to fill in blank no. 6.
1. these 2. when 3. which 4. those

182. Select the most appropriate option to fill in blank no. 7.

1. develop 2. establish 3. build 4. create
183. Select the most appropriate option to fill in blank no. 8.

1. low 2. terrible 3. high 4. good
184. Select the most appropriate option to fill in blank no. 9.

1. unirrigated 2. spoiled 3. flooded 4. drenched
185. Select the most appropriate option to fill in blank no. 10.

1. develop 2. buy 3. support 4. cultivate
Comprehension:
Read the given passage and answer the questions that follow.
As legend has it, Rome was founded in 753 B. C. by Romulus and
Remus, twin sons of Mars, the god of war. They had been left to
drown in a basket on the Tiber river by a king of a nearby region
and were rescued by a she-wolf. The twins lived to defeat that king
and founded their own city on the river’s banks in 753 B.C. After
killing his brother, Romulus became the first king of Rome, which
is named after him. A line of Sabine, Latin and Etruscan (earlier
Italian civilisations) kings followed in a non-hereditary succession.
Rome’s era as a monarchy ended in 509 B.C. with the overthrow of its
seventh king, Lucius Tarquinius Superbus, whom ancient historians
portrayed as cruel and tyrannical, compared to his benevolent
predecessors. Rome now turned from a monarchy into a republic.
The power of the monarch passed to two annually elected
magistrates called consuls. They also served as commanders-in-
chief of the army. The magistrates, though elected by the people,
were largely the descendants of the original senators from the time
of Romulus. In 450 B.C., the first Roman law code was inscribed
on 12 bronze tablets—known as the Twelve Tables—and publicly
displayed in the Roman Forum. These laws included issues of legal
procedure, civil rights and property rights and provided the basis
for all future Roman civil laws. By around 300 B.C. real political
power in Rome was centered in the Senate.
186. Which of the following statements is NOT true?

1. Elected magistrates served as commanders-in-chief.

2. Consuls were elected every two years by the people.

3. Romulus and Remus founded the city of Roma.

4. Twelve Tables is the Roman code of law.
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187. Lucius Tarqunius was overthrown because he was a:
1. descendant of Romulus 2. cruel monarch
3. generous ruler 4. non-hereditary king
188. Rome became a republicin .
1. 509 B.C. 2.450B.C. 3. 753 B.C.
189. What is the passage mainly about?
1. The Republic of Rome 2. The history or Rome
3. The Roman code of law 4. Roman myths and legends
190. Which of the following is NOT an earlier Italian civilisation as
mentioned in the passage?
1. Roman 2. Etruscan
Comprehension:
Read the given passage and answer the questions that follow.

4. 300 B.C.

3. Sabine 4. Latin

Unlike its Nordic neighbors, Sweden decided early on in the
pandemic to forgo lockdown in the hope of achieving broad
immunity to the coronavirus. While social distancing was promoted,
the government allowed bars, restaurants, salons, gyms and schools
to stay open. Initially, Sweden saw death rates from Covid-19 that
were similar to other European nations that had closed down their
economies. But now, the Scandinavian nation’s daily death toll
per 1 million people is 8.71 compared to the United States’ 4.59,
according to online publication ‘Our World in Data’. Sweden’s
mortality rate is the highest in Europe.
“I’d says it hasn’t worked out so well,” said Dr. George Rutherford,
professor of epidemiology at the University of California, San
Francisco. “I think the mortality in Norway is something like ten-
fold lower. That’s the real comparator.” (Norway’s daily death rate
is less than .01 per 1 million people).
“If you let this go or don’t try very hard or go about it in somewhat
of a more restrained way rather than we have here, this is the price
you pay,” Rutherford said. “Maybe it didn’t hurt businesses, but you
have twice the mortality rate of the United States. All those people
who died were part of families and they were citizens and part of
the fabric of Swedish society. And now they’re gone because of a
policy that hasn’t worked out quite the way they thought it would.”
Scientists estimate herd immunity for the coronavirus is reached
when 70-90% of the population becomes immune to a virus, either
by becoming infected or getting a protective vaccine. Despite its
relaxed response, Sweden is nowhere near to hitting that goal.
Tests on 1,118 Stockholm residents carried out by Sweden’s Public
Health Agency over one week in late April showed that only 7.3%
had developed the antibodies needed to stave off the disease. “I
think herd immunity is a long way off, if we ever reach it,” Bjérn
Olsen, a professor of infectious medicine of Uppsala University,
told Reuters after the release of the antibody findings.
Rutherford said we can keep doing non-pharmaceutical interventions
like contact tracing, mask wearing and isolation quarantines, but
also develop drugs that work better treating people who already
have the infection so they don’t require critical care in a hospital.
191. The death rate in Norway is:

1. 4.59 per 1 million people 2. 1.01 per 1 million people

3. 8.71 per 1 million people 4. 0.01 per 1 million people
192. Why did Sweden decide against having a lockdown in the

country?

1. They hoped to achieve broad immunity to the corona virus.

2. The had faith in their public healthcare system.

3. They did not want to disturb the economy of the country.

4. They promoted social distancing.
193. What was the result of having no lockdown in Sweden?

1. Sweden’s mortality rate became the highest in Europe.

2. The economy in Sweden flourished more than before.

3. Sweden has achieved herd immunity against corona virus.

4. Sweden’s public health care system became more robust.



214

194. Select the option that correctly matches the words from the
passage with their meanings.

a. forgo 1. Prevent
b. restrain 2. decline
¢. stave off 3. control
1. a-2,b-3, c-1 2.a-2,b-1,c-3
3. a-1,b-3,¢c-2 4. a-3,b-2, c-1

195. Which of the following statements is NOT true according to

the passage?

1. In the beginning, Sweden’s death rate was similar to other
European nations who had locked down.

2. The government of Norway allowed bars, restaurants,
salons, gyms and schools to stay open.

3. The mortality rate in Sweden is twice the mortality rate of
the United States.

4. According to scientific estimate, herd immunity for the
corona virus is reached when 70-90% of the population
becomes immune to the virus.

Comprehension:

Read the given passage and answer the questions that follow.

Difficult time could create feelings of anxiety, insecurity, and fear.
As we navigate through undesirable situations and uncertainties,
we find that negativities surrounding the problems consume our
mind. It is in those time that we have to exert ourselves to change
our perspective and adopt a more positive and solution-driven
attitude. Wise people have always chosen to leverage adversities
as opportunities for growth and progress, rather than succumb to
negative thought patterns. Saint Kabir described how different
people respond when challenged by problems: “Gold, virtuous
people and saints are resilient; you may break them a hundred time
and yet they will re-join. In contrast, negative people and clay pots
are fragile; once shattered, they are broken forever.”

The distinguishing feature of the successful is that they have a mind-
set that enables them to remain positive in the face of adversity and
even utilise the negative situation for their benefit. The eagle can
teach us a few lessons on this. When the storm starts blowing, it
does not cower down before it. It flies to a higher point and waits for
the wind to blow over. When the storm sets in, the eagle spreads its
wings and uses the draft of the wind to rise higher and higher in the
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sky. It does not run way from the storm, rather it uses the storm to

its advantage. While the storm rages below, the eagle soars above it.

The winning attitude to overcome despair and stress is to realise that

adversities have opportunities inherent in them, and opportunities

do not come without problems. Hence, difficulties and obstacles

have a positive side to them as they make us grow from within.

A gem gets polished with friction. The finest steel is produced by

putting it in fire. Similarly, the more hardships we face, the stronger

we become.

196. Saint Kabir believed that saintly people:

1. can be broken easily

2. can be overcome by fear easily

3. can regain their strength easily

4. are not willing to suffer a hundred times

Which of the following is NOT a message that the passage

gives us?

1. Difficulties enable us to become stronger as we learn to face
them.

2. Those who are positive are fragile and can be easily
shattered by difficulties.

3. We have to change our view point and adopt a more positive
and solution-driven attitude towards difficulties.

4. Adversities have opportunities as well as obstacles inherent
in them.

Which of the following is an ideal way of handling as difficult

situation?

1. Thinking deeply about the impact of adversities

2. Moving away from difficulties

3. Making the best use of a situation to your advantage.

4. Becoming overcome by stress and negativity

When there is a storm, an eagle .

1. uses it to fly away to safety

2. gets scared and hides to save itself

3. waits for it to end, then starts flying

4. flies high above it, using its force

As per the passage, when we face difficult times:

1. we become passively engaged in overcoming them

2. our minds get overcome by negative thoughts

3. we start changing our views on life

4. we look at them as opportunities for improvement

197.

198.

199.

200.
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. @ [u2. o [m3. @) |ua @ [us @ e @ [n7. @) [us. @ [119. 3) [120. (4
121, 3) [122. (2 [123. (@ [124. (@ [125. (3) [126. (4 [127. (3) [128. (3) [129. (3) [130. (1)
131, @ [132. () [133. (1) [134. () [135. (1) [136. (2) [137. (3) [138. (4) [ 139. (3) | 140. (2)
141. (1) [142. @) [143. (1) [144. 3) [145. (@) | 146. () [147. (2) [148. (1) [ 149. (1) [ 150. (2)
151, () [152. 3) [153. (1) [154. (@ [155. (@) [156. (3) [157. (2) [ 158. (4) [ 159. (1) | 160. (2)
161. (3) |162. (2) [163. (4) [164. (1) [165. (2) [166. (3) | 167. (3) | 168. (3) [169. (3) | 170. (2)
171, (@) [172. @) [173. () [174. @) [175. (3) [176. @) [177. 3) [178. (@) |179. (@) [180. (3)
181. (3) |182. (3) |183. (4) [184. (1) | 185. (4) [186. (2) | 187. (2) | 188. (1) [189. (2) | 190. (1)
191, (4) [192. (1) [193. (1) [194. (1) [195. (2) [196. (3) [ 197. () [198. (3) | 199. (4) [200. (2




Answers with Explanations

1. Option (3) is correct.

According to the question:
F

B C

D
A

E

As per the above sitting arrangement, B is sitting between A and F.

Option (4) is correct.
Given that:

57100

89181

1110°?

Row wise:

st row
G+1D)2+((7+1)2=100
2nd row
@®+1)2+(O+1)2=181
3rd row

11+ 1)2+(10+ 1)2 =265
Option (1) is correct.
Given series: 61, 73, 99, 141, 201, ?

61 73 99 141 201 ?
L AL AL AL AL 4
12 26 42 60
AL AL AL 4
14 16 18

So, Next term =201 + 60 + 18 + 2 =281
Option (1) is correct.

Let the amount vivek gets = x

Hence, the amount rajesh gets = 2x
Hence, the amount Kripal gets = 4x
According to question:
x+2x+4x=5110

=207
7

So, Kripal will get =4 x 730 =32920
Option (2) is correct.
Logic:

Except for option 1, all other option éT Uu K S

follows this pattern S K UT
Hence, option 1 is the odd one out.

Option (4) is correct.

10.

SPIRIT : TQHSHU,

[s[eplr[rR[1][T]
+1 +1 +1 +1 -1 +1
Y Y Y Y Y Y
Lrlofu]s [n[uU]
Similarly, BAMBOO : ?
[Bla[m[B]O] O]
+1 +1 +1 +1 -1 +1
\ 4 Y Y Y \ 4 Y
lclz[N[c[N][N]
Hence, CZNCNN is the correct answer.
Option (2) is correct.
T
Q
P
S
R
Hence, T is the oldest among all.
Option (2) is correct.
Given:
M
D F 43Y6
N

In the mirror image left becomes right and right becomes left.
Hence,

0 Y 3 b Ll a
Option (1) is correct.

@)

Following the symmetry and the pattern. Hence,

Option (1) is correct.

ZIGSAW is written as BOHTEX.

Lz T 1 1T G s T AT W]
+1 next +1 +1 next 1
vowel vowel
\ 4 \ 4 Y Y Y Y
B Jof[mw | r]®E x|

Similarly, BLUFF is written as CMAGG.

Given sequence: [ B ] L | U] F [ F |
SPIRIT : TQHSHU :: BAMBOO : ? 0 et oy ot
Table of Alphabetical series (point to remember): vowel
\ 4 \ 4 Y \ 4 Y

Alphabets |A [B|C|D|E|F|G|H|I|J|K|L[M [ c [ m | A ] 6 | ¢ |

iti Similarly, MOVEMENT b itt :
Positional | | |5 |3]4|5|6|7]8|910[11]12[13 Imiarty: can be written as
[ (Mol v e [m]e[N]T]|
Alphabets |Z |Y |X|[W|V|U|T|S|R|Q|P|O|N o qmext [ next | fmext [ [y

vowel vowel vowel

Positional Y Y \ 4 Y Y \ 4 \ 4 Y
value 26(25(24123(22|21|20({19|18|17(16|15|14 | N | U | M | I | E | I | P | v |
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11. Option (3) is correct. B A Y 0 N E T
Given series: KLIMC, JJFIX, IHCES, HFZAN, ? 5 1 55 15 12 5 20
K -1 7 1 1 a1 H g
> > ——> | » \ v ¥ A4
[ 2 | 1 [2+s5=7][1+5-6]1+4=5] 5 [2+0-2|
L2 J 2 H 2 F 2 |D
> »> —T1» —T—> Similarly, ‘HAPPIER’ can be written as:
1 -3 F 3 ] ¢ 3]z 3w H | A P P I E R
> > — 1> —1T—> 8 1 16 16 9 5 18
M4 1 -4 E 4 A 4 |w l l l l l l l
— > > [ 8 [ 1 J1+6=7]1+6=7] o | 5 [1+8=9]
C -5 X -5 S -5 N 5 [ 8177959 is the correct answer.
> > > > 16. Option (1) is correct.
12. Option (1) is correct. AN
| | | | | |
[ [ [ | [ [ — O
P L M K N o [
Hence, P and O are sitting at the corners. !
’ Thy ired fi is:
13. Option (3) is correct. ¢ required igure 18
Given sequence: PRIEST : TSRPIE :: UMPIRE: ? A
Table of Alphabetical series (point to remember), 17. Option (2) is correct.
Given that:
Alphabets| A [B|c[D|E[F[G|u]1]1[x[L[Mm 87900
Positional | 1 (2|3 |4 [5[6|7 8|9 |10|11]12[13 1113572
value 12157
Alphabets | z | v [ x [w|v]u|[T|s|r[Q|P|O[N (8+72-1=224
(11+13)2-4=572
Positional (2625|2423 (22(21|20(19(18[17|16|15|14 (12+15)2-9=720
value 18. Option (3) is correct.
PRIEST : TSRPIE, Given series: LONDON, ORQALK, RUTXIH, ?
Arrange in descending order in alphabetical series. See the | L | 0 | N | D | 0 | N |
above table:
T S R P [ E LA 2 2R AR A A
20 19 18 16 9 5 Lo rR o] Al |k |
Similarly, UMPIRE: ? N e R A R S R
U R P M I E [ R Ju |t | x| 1| H|
21 18 16 13 9 5 3 3 3 5 5 5
. . \4 / \ Y Y
14. Option (3) is correct. | U | X | W | U | F | E |
Given that: .
‘he is waiting” is written as 269", Henfze, UXWUFE is the correct answer.
‘she is ready’ is written as ‘915°, 19. Optlon (2_) lf correct, 0
and ‘he and she’ is written as ‘271°. Given series: KJS, POX, ?, ZYH
Then code for the word ‘and’ is | K | J | S |
‘he is waiting’ = 269°, +5 15 45
‘she is ready’ = ‘915, \ 4 Y A\
and ‘he and she’ = 271", | P | (¢} | X |
ie.
. +5 +5 +5
is—9 / \4 \
he — 2 | U | T | C |
she — 1 s s 's
So, 7 is coded as ‘and’. Y Y \
15. Option (4) is correct. | 4 | Y | H |
Table of Alphabetical series (point to remember) 20. Option (1) is correct.
Alphabets| A |[B|C|D|E|F|G|H|I|J|K|L|M Correct sequence:
Positional| 1 1213141516l 71819/l10l11]12]13 | 2. Measurement | 4. Stitching | 3. Designer dress | 1. Wearing
value 21. Option (1) is correct.
Let the number be x
Alphabets| Z [ Y |X|W|V|U|T|S|R P|[O|N
phabets Q X2+ 23 =584
Positional | 26 |25(24(23(22|21(20(19|18|17|16[15|14 Check option one by one
value LHS =8 + 82 + 83

‘BAYONET" is written as ‘2176552’: =8+64+512=584
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22.

23.

24.

25.

26.

27.

28.

29.

Option (3) is correct.
Given:
18 21 12
7 15 11

175 540 ?
18x7+72=175
21 x 15+ 152 =540
12x11+112=253
Option (4) is correct. )
only sister wife

. .

Sarika  sister = = = sHusband

Father
Boy (son)  Son

Hence, Sarika is the mother of Boy.
Option (2) is correct.
Given series: 55, 68, 81, 94, 2, 120
55+13=68
68 +13 =81
81+13=94
94+ 13 =107
107 +13 =120
So, missing number is 107.
Option (1) is correct.
Given series: 115, 107, 98, 88, 77, 65, ?
115-8=107
107-9=98
98 -10=288
88—-11=77
72 -12=65
65-13=52
So, missing number is 52.
Option (1) is correct.
‘A’ denotes ‘addition’,
‘B’ denotes ‘multiplication’,
‘C’ denotes ‘subtraction’ and
‘D’ denotes ‘division’, then
55A5B(7TA4)C75D(25D5)="?
554+5x(7+4)-75+(25=5)
Applying BODMAS
=55+5x(7+4)-75+5
=55+5x(11)-75+5
=55+55-15
=110-15=95
Option (4) is correct.

| 1. Place | 5. Plaque | 4. Plaster | 2. Player

3. Plough

Plaster would come at the 3" place.
Option (1) is correct.

From the Venn diagram, all of the conclusion follows.

Option (2) is correct. )
A —— Jaipur
B —— Mumbai
C ____  Chennai
D —— Kolkata
E —— Delhi

Hence, C will travel to Chennai.

30. Option (2) is correct.

31.

32.

33.

34.

35.

36.

Teachers

Engineers
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From the Venn diagram only conclusion I and II follow

Option (1) is correct.

N Preeti

Shadows

Dhvani

Hence, Dhvani is facing the North direction.
Option (2) is correct.

6 —6

T N
-6 —6

L F
—6 —6

P J
-6 -6

D X

Hence, PJF is the odd one out
Option (3) is correct.

According to the question, required venn diagram:

Female

Option (2) is correct.

Given that:

‘A # B’ means ‘A is the
husband of B’.

‘A @ B’ means ‘A is the
daughter of B’. ‘
‘A & B’ means ‘A is the sister -

P———Q

of B”.

P sister Q daughter D husband K daughter S husband T

Hence, D is the Daughter-in-law of T
Option (2) is correct.

Given sequence: CARPET : RACTEP :: GOBLET : ?

C A R P ET
R A C T E P
G OB L ET
c——
B O G T E L

Hence, BOGTEL is the correct answer.
Option (1) is correct.

Given sequence: (15, 1, 7, 32) (20, 2, 7, 47) (13, 3, 7, 50)

(7,4, 7,48)
15+7+1x10=32
20+7+2x10=47
13+7+3x10=50
T+1+4x10=48

Hence,1 is the correct answer.
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37. Option (4) is correct.
Given:12:36::18:7?

38.

39.

40.

41.

42,

43.

44.

(12/2) =36

Similarly, (18/2)> = 81
Option (3) is correct.

Given series: 1,2,4,4,9,6,7?,7, 8,25, 10

Here 2 series are there:

I st series:

2nd series
2+2=4
4+2=6
6+2=8
8+2=10

Hence, 16 is the correct answer.
Option (2) is correct.

Sm
i j Home
35m ) 40m
70 m
35m
Shortest distance between office and home
= J(40)* +(30)* =50 m
Option (1) is correct.
o o o
o o ol o9 ?
<+ << <+
Following the symmetry and the pattern. Hence, |
<>

Option (2) is correct.
Given: 14 x 8 + 64 +32 -2 =188

After interchanging 8 and 2, and — and +
14x2+64-32+2=288
LHS=14x2+64-32+2

=28+ 60 =88 =RHS
Option (4) is correct.
45+25=170

15

55m

§ G 3y

From the Venn diagram all of the conclusion follows.

45 m
Hence, the correct answer is 70m to the East.
Option (1) is correct.

Option (3) is correct.

Given equation: 30 * 3 * 16 * 4 * 24 * 70

30%3*16*4%24*70

Applying signs

30x3+16+4-24=70

25 m

End point

Start Point

Oswaal SSC Stenographer Grade C & D Year-wise Solved Papers

Applying BODMAS
LHS=30x3+16+4-24
=90+4-24

=94 -24=70=RHS
45. Option (3) is correct.
Given that, 16 January 2015 was Friday.
Number of odd days from 2010 to 2015
1+2+1+1+1=6o0dddays
Friday —6 days = Saturday
46. Option (2) is correct.

F oo o \t/. Eé=- -
0 6
Follow the symmetry and the pattern. Hence, |™— =%
10

47. Option (1) is correct.
Correct order:

2. Planta- | 3. Harves- 1. Food 5. Packa- | 4. Super-
tion ting Processing ging store

48. Option (4) is correct.
Rubi ——— Abhishek  -=zzzzzzz Avritti

Richa Ankur —— Anvi
Hence, Richa is the cousin of Anvi.
49. Option (1) is correct.
G=E<D<RandE=Y>K>Q,
G
I
R>D>E=Y>K>Q
From the above statement G > Q Hence, G < Q is not correct.
50. Option (4) is correct.

So, Students + hostelers + sportsperson = 10

51. Option (4) is correct.

The seven women who took over PM Modi’s social media accounts
on International Women’s Day 2020 were: Sneha Mohandoss,
founder of Food Bank India, Arifa Jan, reviver of the Numdah
handicraft in Kashmir, Kalpana Ramesh, water conservationist,
Vijaya Pawar, farmer and social worker, Kalavati, an activist
who campaigns against open defecation and Veena Devi, who is
also known as ‘Mushroom Mahila’ for popularising Mushroom
cultivation.

Vajira Chitrasena is a Sri Lankan dancer and choreographer. She
was not one of the seven women who took over PM Modi’s social
media accounts.

52. Option (4) is correct.

Guru Shikhar Peak, at an elevation of 1722 m is the highest point
of Aravalli mountain. The peak is situated in the Arbuda mountains,
Sirohi district, Rajasthan. The Peninsular plains are bordered to the
northwest by the Aravalli Hills, one of the oldest mountain ranges in
the world. The Aravalli range begins close to Delhi, travels through
Rajasthan and Haryana, and terminates in Gujarat.
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53. Option (1) is correct.

Choudhry Rahmat Ali had coined the name ‘Pakistan’ in the year
1933 by using the initials of places like Punjab (P), Afghan (A),
Kashmir (K), Sindh (S), and Baluchistan (TAN). He published this
name in the ‘Pakistan Declaration’, which was a pamphlet written
under the title “‘Now or Never; Are we to Live or Peris Forever?’
The nation’s original name was PAKSTAN. ‘I’ was conveniently
added between K and S, which resulted in PAKISTAN.

54. Option (3) is correct.

The Union Government of India introduced the PM SVANidhi
scheme in June 2020 for the street vendors. Pradhan Mantri Street
Vendor’s AtmaNirbhar Nidhi is the full name of the programme,
and it was started to assist and empower street vendors who were
impacted by the COVID-19 pandemic and ensuing lockdown
measures. The program’s goal was to give working capital loans
to street vendors so they could gain access to formal finance and
reclaim their livelihoods.

55. Option (2) is correct.

In the 2019 Global Hunger Index, India came in at number 102
out of 117 nations. GHI gauges and monitors global hunger levels
and associated variables. The index evaluates the state of hunger
in various nations by taking into account several variables, such as
undernourishment, child wasting, child stunting, and child mortality.
56. Option (3) is correct.

At the Asansol Railway Station, Indian Railways opened its
first ‘Restaurant on Wheels’ for the convenience of both railway
customers and Asansol residents in general. On February 26, 2020,
it was officially inaugurated by Minister of State for Environment,
Forestry, and Climate Change Babul Supriyo. He also unveiled
an electronic reservation chart display system and two new air-
conditioned retiring rooms.

57. Option (4) is correct.

Global Handwashing Day 2021 is observed on October 15 every
year. The day aims to spread awareness about the importance of
hygiene. The theme for 2021 is Our Future is at Hand — Let’s Move
Forward Together. The day was founded by the Global Handwashing
Partnership. It was celebrated for the first time in 2008.

58. Option (2) is correct.

Imphal, the capital of Manipur is home to the memorial of the
Second World War that was constructed by Japan. The Government
of Japan founded the “Imphal Peace Museum” as a memorial to
the soldiers who died in the 1944 Battle of Imphal. It promotes
remembering and healing while acting as a peace symbol.

59. Option (2) is correct.

On March 2, 2020, the seven-day Exhibition-cum-Fair EKAM Fest
officially began. The National Handicapped Finance Development
Corporation (NHFDC) in New Delhi was incharge of organising
it. The fest was an endeavour to raise awareness among society
about the possibilities of Person with Disabilities (PwDs) and to
encourage entrepreneurship and knowledge among the Divyangjan
community.

60. Option (2) is correct.

Monaco serves as the home of World Athletics’ administrative
offices. The World Athletics was formerly known as the
‘International Amateur Athletic Federation’ from 1912-2001 and
‘International Association of Athletics Federation” from 2001
-2019. It was established in Stockholm in 1912. It approves all
official world records for track and field competitions. I0C, the
International Olympic Committee, recognises World Athletics.

61. Option (1) is correct.

Shweta Rawat is a scientist at the Defence Institute of Physiology
and Allied Sciences (DIPAS), DRDO. She has developed a female-
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specific full-body protector (Prabala) to safeguard the Female troops
deployed in riot control actions. This gear has been developed in
collaboration with the Rapid Action Force using the ergonomic
design principle based on anthropometric dimensions specific to
female troops. The National Award for Young Women Showing
Excellence through Application of Technology for Societal Benefit
is an annual award given by the Government of India to young
women scientists who have made significant contributions in the
field of technology. The award was instituted in 2019.

62. Option (3) is correct.

Mabharashtra has a subterranean bunker located in Mumbai’s Raj
Bhavan, of the governor of Maharashtra official residence. This
museum offers tourists insights into Maharashtra’s governance and
administration while showcasing artefacts and exhibits connected
to the state’s history.

63. Option (3) is correct.

Budding is a method akin to grafting, except it only includes
planting a single bud as opposed to a whole shoot or stem. The target
plant’s bud, often known as bud wood, is removed and put into the
rootstock plant’s stem or bark. Until the bud successfully grows and
fuses with the rootstock, it is securely bound and wrapped. Roses,
citrus trees, and other plants where particular cultivars or features
are required frequently use budding.

64. Option (4) is correct.

Alum is made by dissolving bauxite in sulphuric acid. Alum is an
inorganic compound made up of aluminium, sulphates and water
molecules. Bauxite is the primary ore of aluminium and is primarily
composed of a mixture of hydrous aluminium oxides.

65. Option (3) is correct.

The 42nd Amendment Act of 1976 changed the phrase ‘unity of the
Nation’ to ‘unity and integrity of the Nation’ in the Preamble of the
Constitution. The amendment also changed the description of India
from a ‘sovereign democratic republic’ to a ‘sovereign, socialist
secular democratic republic.’ The purpose of this amendment was to
emphasise how crucial it is to keep the country’s unity and integrity.
66. Option (2) is correct.

Theyyam is a Dravidian art form and a ritual dance performed to
please Goddess Kali. Its name derives from the Malayalam word
‘Devam,” which means ‘God.” The people of Kerala view it as a
path to get divine favour. It is often conducted by men from the
lower caste community. There are about 400 different varieties of
theyyam. Kerala’s art styles include Theyyam, Chakyar Koothu,
and Thiruvathirakali.

67. Option (4) is correct.

The Chambal River flows through Rajasthan, Madhya Pradesh and
Uttar Pradesh. Before entering the Yamuna River in Uttar Pradesh,
it travels through Rajasthan and Uttar Pradesh after rising in the
Madhya Pradesh Vindhya Range.

68. Option (2) is correct.

According to Article 356 of the Indian Constitution, the Centre
(Union Government) has the authority to assume control of a state’s
government upon the governor’s recommendation. President’s Rule
or the imposition of President’s Rule in a state are typical names for
this clause. According to Article 356, the President may take control
of the state administration, remove the state government, and
establish direct rule if the President is confident that the governance
in a state cannot be carried out in line with the Constitution’s
provisions. Based on the governor of the state’s recommendation,
this is carried out.

69. Option (4) is correct.

“Stagflation” is the phrase that best defines a situation in which an
economy experiences both inflation and a decrease in real output at the
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same time. Stagflation is a condition that includes both continuously
high inflation rates and either sluggish economic growth or a drop in
output (sometimes known as a recession or an economic contraction).
For policymakers, this combination of high inflation and economic
stagnation presents a difficult situation because conventional methods
for reducing inflation or promoting economic growth may not work.
Since stagflation can result in decreased purchasing power, higher
unemployment, and general economic instability, it is frequently
regarded as a bad economic situation.

70. Option (2) is correct.

Vikas Krishan, an Indian boxer, finished second in the men’s 69 kg
weight division in the Asian Boxing Olympic Qualifiers in Amman,
Jordan. Vikas Krishan competed for India in the 69 kg weight
division and finished the match in second place.

71. Option (2) is correct.

For “violation of the Constitution,” the President may be impeached
and forced out of office. Either House of Parliament may bring the
impeachment allegations. One-fourth of the members of the House
who prepared the charges must sign these charges, and the President
must be given 14 days’ notice. The other House should conduct an
investigation into the allegations when the impeachment resolution
has been approved by two-thirds of the entire membership of that
House. In such an investigation, the President is entitled to make
an appearance and to be represented. The President is removed
from office as of the date the resolution is passed if the other House
upholds the accusations and votes to impeach by a margin of
two-thirds of the entire membership. Impeachment in Parliament
is a quasi-judicial process. Two factors should be kept in mind in
this situation: Despite not voting in the President’s election, the
nominees for either House of Parliament may take part in his or her
impeachment. Although they take part in the President’s election,
the elected members of the legislative bodies of the states and the
union territories of Delhi and Puducherry do not take part in the
impeachment of the President.

72. Option (1) is correct.

India and Australia signed the Mutual Logistics Support Agreement
(MLSA) to allow the militaries of both the countries to use each
other’s base for repair and replenishment of supplies and facilitate
scaling up of overall defence cooperation.

73. Option (1) is correct.

Andaman and Nicobar Islands is the Union Territory with the
lowest population density, according to the Census of India 2011.
The Andaman and Nicobar Islands are located in the Indian Ocean.
The islands’ biodiversity, immaculate beaches, and distinctive
indigenous cultures are well-known.

74. Option (1) is correct.

Sedimentation is the process by which the heavier component of a
mixture settles after water has been added. The reason for this settling
is that the solid particles are denser than the liquid they are surrounded
by. The liquid stays clearer above as the solid particles progressively
separate over time and collect at the bottom of the container. The
separation of solids from liquids, mineral processing, and wastewater
treatment are just a few of the processes and industries that frequently
use sedimentation.

75. Option (3) is correct.

Thailand is known for its ‘Khon* sculptures, which show Lord
Rama in all his grandeur. Ramakien, the Thai version of the Hindu
epic Ramayana, is featured in Khon, a traditional Thai dance-drama.
It combines music, dancing, acting, and ornate costumes and masks
with beautiful motions. Khon is a traditional Thai performance that
honours Thai mythology and history and is performed on special
occasions, religious festivals, and royal ceremonies.
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76. Option (3) is correct.

Bathukamma festival is celebrated mainly in Telangana and some
parts of Andhra Pradesh. It involves the worship of the Goddess
Maha Gauri and is celebrated for nine days during the Navratras.
77. Option (1) is correct.

When one of the X chromosomes in females is completely or
partially missing, Turner Syndrome, a chromosomal disease,
results. Short stature, delayed sexual maturation, infertility, and
numerous physical abnormalities are prevalent characteristics.
Turner Syndrome is caused by chromosomal anomalies and
does not follow the traditional inheritance patterns of Mendelian
disorders, which are caused by changes in a single gene.

78. Option (2) is correct.

Vadhvan is a seaside region in the Palghar district, Maharashtra. The
construction of the big port at Vadhavan is anticipated to increase
regional infrastructure and maritime trade while also boosting
Maharashtra’s economy and that of the neighbouring territories.
79. Option (1) is correct.

Mabharashtra, which lies in the western portion of India, is home to
the second largest population. Cities with significant commercial,
industrial, and educational hubs include Mumbai, Pune, Nagpur,
and Nashik. The population of the state has a significant impact on
the diversity of its cultures and economy.

80. Option (3) is correct.

In Mabharashtra’s Ahmednagar district is the archaeological site
of Daimabad situated. It is well-known for its Chalcolithic period
excavations, which date from about 2000 to 1800 BCE. With the
discovery of dwellings, pottery, tools, and other remnants of an
old civilisation, the site has shed important new light on the early
human settlements in the area.

81. Option (1) is correct.

The Yadav community of Bihar, especially during the celebration
of Holi, performs the Jhijhiya dance. It is distinguished by brisk,
rhythmic movements accompanied by age-old lyrics and music.
The dance, which has both male and female dancers forming
circles and executing numerous dance moves, is a celebration of
joy and happiness. The Yadav community in Bihar uses the Jhijhiya
Dance as a significant cultural expression, and it is enthusiastically
performed at special events.

82. Option (4) is correct.

An electronic component known as a capacitor stores electrical
energy in an electric field. Capacitors are frequently employed in
conjunction with power supply systems in the context of digital
circuits and computer memories to offer temporary power backup
during brief power outages. The capacitors’ stored energy can keep
the memory circuits running for a brief amount of time in the event
of'a power outage, giving time for a proper shutdown or data backup.
Thermistors, diodes, and transmitters do not specifically function to
keep data in computer memories safe during a power outage.

83. Option (3) is correct.

Australia hosted the event from February 21 to March 8, 2020. At
the Melbourne Cricket Ground (MCG) in Melbourne, Australia,
the Australian women’s cricket team defeated India to win the title.
With this triumph, Australia won its fifth ICC Women’s T20 World
Cup championship.

84. Option (2) is correct.

Direct water delivery to the root zone of plants via drip irrigation,
sometimes referred to as trickle irrigation or micro-irrigation, is
an effective way of watering plants. This method involves placing
small diameter tubes or emitters close to the plants, which release
water gradually, drop by drop, or in a small stream. This minimises
waste and maximises water use by enabling exact water application.
To maximise plant development while preserving water resources,
drip irrigation is frequently employed in landscaping, agriculture,
and gardens.
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85. Option (4) is correct.

In 1978, the 44th Amendment Act was passed, significantly altering
the Indian Constitution. It turned the Right to Property (Article
31) into a legal right by removing it from the list of Fundamental
Rights. The amendment sought to establish a balance between
the demands of social and economic development and individual
rights. It permitted the government to purchase private property for
public use after making the necessary legal compensation.

86. Option (2) is correct.

From 1848 to 1856, Lord Dalhousie presided as the governor-
general of India. The British East India Company did not recognise
the customary right of adoption by Indian kings without the consent
of the British government under the Doctrine of Lapse, a doctrine
instituted by Lord Dalhousie. If an Indian princely kingdom lacked
a direct male successor or was regarded to have poor governance or
maladministration, the British were permitted to annex and conquer
it under this doctrine. During that time, some Indian states were
annexed as a result of the contentious Doctrine of Lapse.

87. Option (2) is correct.

From 1605 until his passing in 1627, Jahangir ruled. His son Shah
Jahan, who is credited with building the Taj Mahal, succeeded him.
The cultural and aesthetic accomplishments of Jahangir’s reign, as
well as his support of the arts and architecture, are noteworthy.

88. Option (4) is correct.

According to Article 58, an individual must meet certain
requirements to be eligible for election as President of India. These
requirements include being an Indian citizen, being at least 35 years
old, being eligible to run for election to the Lok Sabha (House of the
People), and not holding any paid positions with the Government of
India, any state governments, or any local authorities.

89. Option (2) is correct.

The Speaking Truth of Power, a series of brief articles written by P.
Chidambaram, appeared in The Indian Express’s weekly columns
in 2017. The book, which was published in 2018, serves as the
Modi Administration’s economic report card.

90. Option (2) is correct.

The book of English poems titled ‘OH Mizoram’ written by PS
Sreedharan Pillai was released by M. Venkaiah Naidu in 2020.
Indian politician M. Venkaiah Naidu held the office of vice
president from 2017 to 2022. He has a reputation for promoting
literature, therefore it’s possible that he essentially issued the cited
book during the period.

91. Option (2) is correct.

To extend the filament’s life, nitrogen is frequently injected into
incandescent bulbs. The filament’s lifespan is extended by nitrogen,
an inert gas that works to slow down the evaporation of the
filament. Additionally, it stops the filament from interacting with
airborne chemicals like oxygen, which could hasten the filament’s
degeneration. The lifespan of the bulb can be increased, providing
longer-lasting illumination, by filling it with nitrogen.

92. Option (3) is correct.

One of the five rivers that flow through the Punjab region in
northern India and Pakistan is the Jhelum, also known as “Vitasta”
in Sanskrit. It is significant historically and culturally, and it is
mentioned in early Vedic scriptures. The river is referred to as
Vitasta in the Rigveda, one of Hinduism’s earliest sacred texts.
Before entering Pakistan and joining the Chenab River, the Jhelum
River flows through the Jammu and Kashmir region, which is
managed by India.

93. Option (4) is correct.

India’s oldest and largest independent, non-profit economic
policy research institute is called the National Council of Applied
Economic Research (NCAER). It was started back in 1956. The
main goal of NCAER is to undertake research and analysis on
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various economic and social issues to assist India’s policymakers
and decision-makers.

94. Option (1) is correct.

Deep veins are typically found deep within the body, surrounded
by muscle tissue, and run parallel to arteries. They frequently share
the same name as the artery they are connected to. Blood flow in
the circulatory system is aided by the cooperation of the deep veins
and arteries.

95. Option (3) is correct.

Inceptisols are distinguished by their moderate weathering,
development, and creation of the soil profile. These soils can be
found across India, especially in the northern plains, the Deccan
Plateau, and the foothills of the Himalayas. Generally speaking,
inceptisols are fertile and good for farming.

96. Option (2) is correct.

Methane (CH4) and carbon dioxide (CO2) make up the majority
of biogas, with trace amounts of other gases including nitrogen
(N2) and hydrogen sulphide (H2S) present. It is created through
a process known as anaerobic digestion, in which bacteria break
down organic materials like food waste, manure, sewage, and
agricultural waste in the absence of oxygen. Biogas is a renewable
energy source that may be utilised to generate power as well as heat
homes.

97. Option (1) is correct.

Drum house was known as ‘Naubat Khana’ during the Mughal
era. Naubat Khana, sometimes called Naqqar Khana or Naubat
Khana, was a building or pavilion where musicians would perform
music, particularly with drums (naqqara), to announce the coming
or departure of an important person, such as the emperor or other
senior officials. It was a location where ceremonial music was
played, evoking a regal ambience and announcing significant
occasions inside the Mughal court.

98. Option (1) is correct.

The Governor of the State receives the Comptroller and Auditor-
General of India’s reports on the financial statements of the State.
The Governor is in charge of arranging for these reports to be
presented to the state legislature. As a result, the State government’s
financial operations are transparent and accountable. The reports
serve as a starting point for discussion and examination by the
legislature and offer an assessment of the financial management and
performance of the State government.

99. Option (1) is correct.

A severely endangered species of wild pig known as the pygmy hog
(Porcula salvania) is only found in the grasslands and wetlands of
India’s Manas National Park in the Assam state. A UNESCO World
Heritage site, Manas National Park is well-known for its wide
variety of flora and fauna. Pygmy hogs, who need grassy areas with
lush foliage and access to water sources, have the perfect habitat
here. The population of this unique and endangered bird is greatly
protected by the park’s conservation efforts.

100. Option (3) is correct.

Serbia is represented by one of the best tennis players in the world,
Novak Djokovic. He is recognised as one of the all-time great
tennis players and has set several records and accolades over his
career. The Association of Tennis Professionals (ATP) has ranked
Djokovic as the world’s top male singles player many times, and he
has won multiple Grand Slam championships.

101. Option (3) is correct.

He is not clever enough to make sound business decisions. The
word ‘no’ is used with nouns to mean ‘no one’ or ‘not any’; the
word ‘not’ is used to modify a verb or an adjective to show the
negative effect on quality. The phrase ‘clever enough’ is used to
express that something or someone is sufficiently intelligent or
skilful. Thus, the phrase ‘clever enough’ is appropriate.
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102. Option (4) is correct.

The manager suggested to his team that they postpone the meeting
until all of them had the information required. ‘Let us postpone
the meeting until all of you have the information required.” The
reporting verb ‘suggested” will change to ‘said to’ in the reporting
sentence. Since it is a suggestion, the word ‘let’ will start the
sentence. Since the reporting sentence contains ‘all of them had the
information’, it will change to ‘all of you have the information’.
103. Option (4) is correct.

The verb ‘produce’ means ‘make or manufacture from components
or raw materials.” All options, except (4) are synonyms. The only
antonym is ‘destroy’.

104. Option (4) is correct.

The coach said to her, “First relax thoroughly before the game
starts.” Since the coach is advising the girl, the reporting verb will
be ‘advised’. The coach advised her first to relax thoroughly before
the game started. The verb in the sentence will take its past form
‘started’.

105. Option (4) is correct.

The locusts have attacked the crops in western India. While
changing voice, the object of the active sentence becomes the
subject of the passive sentence. It will take the format: Object +
has/have + been + V3 + by + subject. The crops in western India
have been attacked by the locusts.

106. Option (4) is correct.

He told me that he doesn’t like people who are not genuinely
interested in helping others. The part containing ‘he don’t like’ will
change to ‘he doesn’t like’, this is so because, with the use of a
singular pronoun (he), a singular verb (doesn’t) will follow.

107. Option (4) is correct.

The word ‘moderate’ implies ‘average in amount, intensity, quality,
or degree; neither small nor large in size. ‘Therefore, the antonym
is ‘extreme’.

108. Option (1) is correct.

The correct sequence is ACBD. (A) is the introductory sentence
for introducing the subject- Raja Ravi Verma, who was a famous
Indian painter. (C) gives details on his works- His works are a
fusion of European art and Indian sensibility. (B) continues this
chain of thought with the use of ‘also’, giving additional details
on his works- ‘making affordable prints of his paintings’ and made
available for the public. This aspect increased the interest of the
public in fine arts.

109. Option (2) is correct.

The idiom ‘to make up for’ something means to do or have
something as a way of correcting or improving (something else).
Thus, the correct option is: to replace something that is lost or
damaged.

110. Option (2) is correct.

The idiom ‘to cut corners’ means to do something in the easiest or
least expensive way; also, act illegally. Example: Don’t try to cut
corners when you’re doing sums.

111. Option (2) is correct.

The given sentence is: If our liberty has to be maintained, then it
must be fought for. The structures for active/passive voices are:
Active Voice: Subject + to-infinitive + Object

Passive Voice: Object + to be + Past participle + by + Subject. In
the case of modal verbs, the structure of active/passive voices are:
Active Voice: Subject + Modal verb + base form of verb + Object
Passive Voice: Object + Modal verb + be + third form of verb + by
+ Object

If we have to maintain our freedom, then we must fight for it.
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112. Option (1) is correct.

The given sentence is: Let a strict eye be kept on rumour mongers.
An imperative sentence in the passive voice has the following form:
Let + object + be + past participle. Here, an active voice directly
starts with the verb ‘keep’. Keep a strict eye on rumour mongers.
113. Option (3) is correct.

The word ‘huge’ means ‘extremely large; enormous.” So, the
synonym is ‘big’.

114. Option (2) is correct.

The given sentence is: “Put this suitcase in the first class compartment,”
said Mr. Dey to the porter. Mr. Dey told the porter to put that suitcase
in the first class compartment. The reporting verb changes to ‘told’.
Since this is an imperative sentence, it will start with ‘to’. “This’ will
change to ‘that’.

115. Option (2) is correct.

The starting statement is: He dipped his fingers in the milk and
thrust them into the fawn’s soft wet mouth. The pronoun ‘it’ in (D)
refers to the fowl in (A). The next action is given in (C)- When
he withdrew them, the fawn bleated frantically. (B) acts as the
conclusion to the preceding sentences, as evident in the use of ‘so’.
The logical sequence is: ADCB. He dipped his fingers in the milk
and thrust them into the fawn’s soft wet mouth. It sucked greedily.
When he withdrew them, the fawn bleated frantically. So, he dipped
his fingers again and let the fawn suck them.

116. Option (2) is correct.

I will be joining the office in a week’s time. The phrase ‘in a week’s
time’ means it refers to a point in time 7 days in the future.

117. Option (3) is correct.

More than 30 people were arrested on suspicion of terrorism
offences in Jammu and Kashmir. The phrase ‘were arresting” will be
replaced by ‘were arrested’. The auxiliary verb ‘were’ is followed
by the past participle form of the verb ‘arrested’.

118. Option (4) is correct.

Some of the boys in my team are very intelligent. The verb ‘are’
suggests the noun and pronoun to be plural. So ‘some of the boys’
is correct. ‘Any’ is used in negative sentences.

119. Option (3) is correct.

The word ‘boring’ means ‘not interesting; tedious’. Therefore, the
antonym is ‘exciting’.

120. Option (4) is correct.

The given sentence is: His employer trusts him completely. In the
present simple, the passive is: am/is/are + past participle + by +
agent. He is completely trusted by his employer.

121. Option (3) is correct.

The idiom ‘under the weather’ implies ‘not feeling well.” Example:
Tina was feeling under the weather after her return from the theme
park.

122. Option (2) is correct.

The given sentence is: The gardener pruned all the rose bushes. In
active voice: Subject + Verb[past form] + object, passive voice:
Object + was/were + Verb [past participle] + by/to/with + Subject.
All the rose bushes were pruned by the gardener.

123. Option (2) is correct.

The word ‘hospitable’ means ‘friendly and welcoming to visitors or
guests.” Therefore, ‘rude’ is the antonym.

124. Option (4) is correct.

The given sentence is: The officer asked the accountant why the
accounts had not been reconciled. In direct speech, the structure is:
why + verb + noun ? ‘Had’ changes to ‘have’ in the present tense.
The officer said to the accountant, “Why have the accounts not been
reconciled?”

125. Option (3) is correct.

Your son hasn’t caused any problems; in fact, he has been very
cooperative. The blank requires an adjective which is modified by
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the adverb ‘very’. ‘Cooperation’ is a noun, ‘cooperatingly’ is an
adverb, while ‘cooperated’ is a verb.

126. Option (4) is correct.

The given sentence is: Ranjan said to his boss, “Will you promote
me by the end of this year?” In indirect speech, ‘will’ changes to
‘would’, and ‘this’ changes to ‘that’. The structure is: if + pronoun
+ verb + object. Rajan asked his boss if he would promote him by
the end of that year.

127. Option (3) is correct.

The logical sequence is: ABDEC. At a school function, after the
school prayer, the Principal welcomes the chief guest. ‘This is
followed by’ in (B) refers to the welcoming of the chief guest in
(A). The adverb ‘then’ shows the completion of the programme
by the school children. Generally, the chief guest addresses the
audience first, then the assistant principal. So, ABDE is the logical
link. While (C) acts as the conclusion- The function comes to an
end with the national anthem.

128. Option (3) is correct.

The logical sequence is: ADBC. The starting sentence is: Thick
socks and tight shoes are worn in winters. ‘These” in D refers to
‘thick socks and tight shoes” in A. They also have an additional
quality ‘leave no space to move about in’; thus, the skin dries up
and tears.

129. Option (3) is correct.

Gravity not only causes bodies to fall but also increases their
speed. The corelative conjunction ‘not only...but also’ connects
two similar ideas. The resultant action of bodies falling and the
increasing speed of the bodies are interrelated.

130. Option (1) is correct.

It is difficult to say which of the two girls in that house is the elder.
When the comparison is between two people, ‘elder’ is used, not
‘eldest’.

131. Option (4) is correct.

The logical sequence is: ADCB. The first statement is: The
Rajasthani men’s style of dressing is very classical. In its classical
approach, the turban forms the most traditional form of their dress,
which is commonly known as ‘pagri’ or ‘safa’. An additional note is
that: How the pagri is tied varies according to the region the people
belong to.

132. Option (1) is correct.

Are you trying to say that you are stupid but proud of it? The
underlined part ‘so’ needs to be substituted with ‘but’. ‘But’ is used
to state usually something that is different from what you have said
before.

133. Option (1) is correct.

I had no choice but to agree to the terms of the contract. The words
‘no choice’ is followed by ‘but to’, not ‘but’.

134. Option (1) is correct.

The given sentence is: They switched off lights in memory of the
martyrs. In passive voice, in past tense the format is: object + was/
were + past participle + subject. Lights were switched off by them
in memory of the martyrs.

135. Option (1) is correct.

The given sentence is: The child said, “Will we stay here tonight?”
The child asked if they would stay there that night. The structure
of yes/no questions in indirect speech is: if + noun + verb in past
tense + object.

136. Option (2) is correct.

The migrating labourers were served hot meals in every town or
village on their way. Here, ‘for every town or village’ will be replaced
by ‘in every town or village’. ‘For” is used to suggest reason/purpose;
while ‘in’ suggests place.
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137. Option (3) is correct.

Most of the food required for the moving migrant workers is
arranged by the state government. ‘Many of the food” will be
replaced by ‘most of the food’. ‘Many’ refers to a large number,
while ‘most’ refers to the largest quantity (amount or number).
Since food can be in number, it represents quantity, so ‘most’ is
appropriate.

138. Option (4) is correct.

In about two months, our family will be leaving for Australia to
settle there. One definition of for is to indicate, or show, a future
goal. “I am leaving for Australia” means that you are leaving your
present place, and your future goal is to arrive in Australia.

139. Option (3) is correct.

Impending natural disasters cause us constant worry. Produce is to
yield, make or manufacture; to generate while the cause is to set
off an event or action. The sentence means that natural disasters
generate worry.

140. Option (2) is correct.

The word ‘emblem’ is a distinctive badge of a nation, organization,
or family. So, the synonym is ‘symbol’.

141. Option (1) is correct.

The given sentence is: Hundreds of villages in West Bengal have
been devastated by Cyclone Amphan. The structure is: Object +
has/have + been + V3 + by + subject (passive voice). In active
voice: Subject + has/have + v3 + object. Cyclone Amphan has
devastated hundreds of villages in West Bengal.

142. Option (2) is correct.

The idiom ‘to get cold feet’ means apprehension or doubt strong
enough to prevent a planned course of action. The correct answer
is: to become afraid to do something.

143. Option (1) is correct.

The word ‘carnage’ implies ‘the killing of a large number of people.’
So the synonym is ‘slaughter’.

144. Option (3) is correct.

The given sentence is: Panic has been caused by the sudden
lockdown. The structure is: Object + has/have + been + V3 + by +
subject (passive voice). In active voice: Subject + has/have + v3 +
object. The sudden lockdown has caused panic.

145. Option (2) is correct.

The idiomatic phrase ‘the apple of someone’s eye’ means a person
or a thing that one cherishes the most. The correct answer is: the
person one loves and cares for.

146. Option (4) is correct.

The staff is being advised to maintain distance while seated in the
office. The gerund form of ‘be’ (being) always agrees with the past
participle form of the verb ‘advised’. So ‘advised’ will replace
‘advise’.

147. Option (2) is correct.

The writer who wrote this book has been selected for this year’s
literature award. Here, ‘a writer who’ will be replaced by ‘the writer
who’ because this is specifically mentioning a particular writer, so
the use of a definite article is necessitated.

148. Option (1) is correct.

He waves to me whenever he sees me at the window. ‘Whenever
will replace ‘whoever’. The former adverb is used to refer to any
time or every time that something happens or is true. The word
“whoever” is used to replace words like I, he, she, and they in a
sentence. So ‘whenever’ is appropriate.

149. Option (1) is correct.

The given sentence is: Raghav said, “You should take a week to
complete the job. In case you don’t, just let me know how much
time you will need.” Raghav suggested that I should take a week

il
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to complete the job. He further said that in case I didn’t, I should
let him know how much time I would need. Here, ‘will’ changes to
‘would’, and ‘don’t” will change to ‘didn’t’. The second sentence
will start with ‘he further said that...’

150. Option (2) is correct.

The word ‘negligent’ implies ‘failing to take proper care of something.’
So ‘careful” is the correct antonym.

151. Option (2) is correct.

A heat wave is declared when the maximum temperature hits 45°
Celsius or is above 40° Celsius in summer. The auxiliary verb ‘is’
always takes the participle form, not the base form of the verb.
152. Option (3) is correct.

Some people’s fear of groups results in long silences or excessive
talking. ‘Some people’s’ will replace ‘Some people’. ‘People’s’
represents the sense of belonging, (the fear of groups of this
category of people) results in long silences or excessive talking.
153. Option (1) is correct.

You should exercise regularly in the morning so that you may remain
fit. “So that’ is a conjunction meaning ‘ in order that’. while ‘even
if” is used for saying that what follows ‘if” makes no difference. The
sentence means: one should exercise regularly in the morning in order
that he stays fit.

154. Option (2) is correct.

The given sentence is: You have asked Varun why he feels this is
important for him. The structure for the interrogative sentence is:
why + verb + subject? You have asked Varun, “Why do you feel this
is important for you?” present tense will be intact.

155. Option (2) is correct.

The word ‘support’ means ‘to help somebody by saying that you
agree with him/her/it, and sometimes giving practical help such as
money’. So, the synonym is ‘agreeing’.

156. Option (3) is correct.

The given sentence is: I told my driver that it was raining heavily
and requested him to drive slowly. ‘Told’ will change to ‘said to’;
‘was’ becomes ‘is’; the verb ‘requested’ will become ‘please’. “It is
raining heavily. Please drive slowly,” I said to my driver.

157. Option (2) is correct.

In the given sentence, the backbone in the human body is also called
the vertebral column. ‘Called as’ is the incorrect usage, so ‘as’ will
be eliminated.

158. Option (4) is correct.

The given sentence is: You said, “I will bake a walnut cake.” In
indirect speech, ‘I’ will change to ‘you’; ‘will’ changes to ‘would’.
You said that you would bake a walnut cake.

159. Option (1) is correct.

The little girl chatters away as she hurries down the road with her
mother. The phrase ‘hurry up’ will be replaced by ‘hurries down’.
The verb will be in the simple present tense, so it will take ‘hurries’,
as the subject is in singular.

160. Option (2) is correct.

The given sentence is: I have written a very strong letter to the local
administration regarding the deteriorating law and order situation.
While changing voice, the object of the active sentence becomes the
subject of the passive sentence. It will take the format: Object + has/
have+ been + V3 + by + subject. A very strong letter has been written
by me to the local administration regarding the deteriorating law and
order situation.

161. Option (3) is correct.

In the given sentence, ‘everyone was charmed by her fine dance
performance’, while changing voice, the object of the active sentence
becomes the subject of the passive sentence. It will take the format:
Subject + verb(simple past tense) + object. Her fine dance performance
charmed everyone.
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162. Option (2) is correct.

The tiger is gradually becoming a rare species. The auxiliary ‘is’
agrees with the ‘ing’ form of a verb, when placed with ‘gradually’.
163. Option (4) is correct.

The book that I lost is too expensive for me to buy now. The noun
is a book, there is no need to repeat the pronoun for ‘the book’ in
the same sentence. Therefore, ‘that I lost it” will be replaced by
‘that I lost’.

164. Option (1) is correct.

She is as fearless as a tiger. The adjective is ‘fearless’, and the
degree of comparison used in the sentence is a positive degree. So,
‘as fearless as’ is correct.

165. Option (2) is correct.

Batter means to beat. So, the synonym of batter is ‘beat’.

166. Option (3) is correct.

One day, my six-year-old sister asked us... The passage is in the
past tense, reminiscing one day. So simple past tense is appropriate
for the blank.

167. Option (3) is correct.

One day, my six-year-old sister asked us which career she should
opt for. All the options, except ‘opt’ do not take ‘for’ after them. To
‘opt for’ means to make a choice from a range of possibilities.

168. Option (3) is correct.

My father suggested that she should become a doctor. It is to be
noted that, we use ‘that’ after a reporting verb (suggested), to
introduce the clause.

169. Option (3) is correct.

My father suggested that she should become a doctor, while my
mother said... The conjunction ‘while’ implies ‘meanwhile/
whereas (to suggest contrast).

170. Option (2) is correct.

My mother said she could become a newspaper reporter. The girl
asks about her career, and the father suggests her to become a
doctor, whereas the mother recommends her to become a newspaper
reporter.

171. Option (4) is correct.

I believed she would make a teacher. ‘Believed’ means to hold
(something) as an opinion. Other verbs cannot justify the context.
172. Option (3) is correct.

I believed she would make a fine teacher. Since the speaker holds
on to his opinion that it will suit the girl to become a teacher, ‘fine’
is appropriate to qualify the noun ‘teacher’.

173. Option (1) is correct.

After a brief silence my sister declared... When the family members
were engrossed in their perceptions and opinions on the career of
the little girl, the girl listened to all suggestions, and after a brief
silence/quiet, she announced her opinion.

174. Option (4) is correct.

“I will become an actress”. ‘An’ is used before a noun that starts
with a vowel sound.

175. Option (3) is correct.

Then I will get an opportunity to play all these roles. Opportunity
means a good chance for advancement or progress.

176. Option (2) is correct.

Another farmer’s cotton harvest increased from 10 quintals to 14
quintals without using pesticides and fertilizers. The increase of
cotton harvest from 10 quintals to 14 quintals was attained without
using pesticides and fertilizers as he was going for organic cotton.
177. Option (3) is correct.

Another farmer’s cotton harvest increased from 10 quintals to 14
quintals without using pesticides and fertilizers on the suggestion of
the local agriculture extension officer. We use ‘of” when we want to
show that people or things relate to other things or people.
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178. Option (4) is correct.

“I had doubts as I was going for organic cotton. ‘Have had’ is used
when we talk about the past when the past has some connection to
what is happening now. The passage is in the past tense, and the
action refers to something that is complete.

179. Option (2) is correct.

“I had doubts as I was going for organic cotton for the first time,”
he said. The adjective “first’ is appropriate because the person had
doubts about going for organic cotton.

180. Option (3) is correct.

“But I saved eight thousand rupees per acre on costs.” Saving on
costs is the right expression to imply reduction in overall spending.
181. Option (3) is correct.

“He sold his cotton for almost seven lakhs, which he wants to
use for his daughter’s studies.” If the relative clause contains
information that is not essential to the meaning of the sentence and
is also preceded by a comma, a dash, or parenthesis, it’s probably
non-restrictive, so which is used.

182. Option (3) is correct.

He sold his cotton for almost seven lakhs, ... to build a new house.
It is obvious to say ‘build a house’, not ‘develop/create/establish’
a house.

183. Option (4) is correct.

Another farmer said he’s got the first ‘good crop’ of his life this
year. This ‘good crop’ is evinced in the line- ‘He reaped 66 quintals
from his two acres’ owing to a government project.

184. Option (1) is correct.

The 53-year-old used to grow red gram on his unirrigated field.
The field can be referred to as ‘unirrigated’, not ‘flooded/drenched/
spoiled’.

185. Option (4) is correct.

“But thanks to a government project, my village tank is full and
I could cultivate paddy in the Rabi season.” ‘Cultivate’ means
to nurture and support Paddy. Buying/developing paddy will not
culminate in reaping 66 quintals from his two acres.

186. Option (2) is correct.

The statement ‘Elected magistrates served as commanders-in-
chief’; ‘Twelve Tables is the Roman code of law’; ‘Romulus and
Remus founded the city of Rome’ are all explicitly stated in the
passage. Only option (2), stating ‘Consuls were elected every two
years by the people’ is not mentioned in the passage.

187. Option (2) is correct.

The mention of Lucius Tarquinius Superbus, whom ancient
historians portrayed as cruel and tyrannical, confirms his cruelty as
the reason behind his assassination.

188. Option (1) is correct.

Rome’s era as a monarchy ended in 509 B.C, Rome now turned
from a monarchy into a republic.

189. Option (2) is correct.

The passage starts with the date of the foundation of Rome,
detailing the series of rulers. It also accounts for the overthrowing
of a monarchy and transformation into a republic. All these events
have been recorded in a chronological manner. So the passage is
definitely on the history of Rome.

190. Option (1) is correct.

The passage highlights the first Roman law code which later
provided the basis for all future Roman civil laws. Therefore, the
Roman civilisation is not an earlier Italian civilisation.

191. Option (4) is correct.

Norway’s daily death rate is less than, 01 per 1 million people; this
is clearly stated in the second paragraph.
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192. Option (1) is correct.

It is explicitly stated in the first paragraph that Sweden’s decision
to forgo lockdown in the hope of achieving broad immunity to the
coronavirus was met with unexpected results- Sweden’s mortality
rate is the highest in Europe.

193. Option (1) is correct.

The statement: ‘according to online publication ‘Our World in
Data’. Sweden’s mortality rate is the highest in Europe’ establishes
the truth in option (1).

194. Option (1) is correct.

The decision by the government to forgo lockdown in the hope
of achieving broad immunity to the coronavirus, implies that they
waived off/declined lockdown in the wake of the pandemic where
the government allowed bars, restaurants, salons, gyms and schools
to stay open. As per Rutherford, if a country does not ‘try very hard
or go about it in somewhat of a more restrained way rather than we
have here’; this means that if the country does not try very hard or
lacks in measures that control the spread of virus, then the mortality
rate will be high. The statement that ‘only 7.3% had developed the
antibodies needed to stave off the disease’ imply that ‘stave off’
means to prevent.

195. Option (2) is correct.

In the beginning, Sweden’s death rate was similar to other European
nations who had locked down is evinced in ‘Sweden saw death rates
from Covid-19 that were similar to other European nations’. The
mortality rate in Sweden is twice the mortality rate of the United
States is affirmed in the words of Rutherford: ‘You have twice the
mortality rate of the United States.’ The sentence ‘Scientists estimate
herd immunity for the coronavirus is reached when 70-90% of the
population becomes immune to a virus’ echoes option (4). Whereas,
the assertion in option (2) that the government of Norway allowed
bars, restaurants, salons, gyms and schools to stay open is incorrect
as it was the decision of the government of Sweden.

196. Option (3) is correct.

The sentence ‘Saint Kabir described how different people respond
when challenged by problems: “Gold, virtuous people and saints
are resilient; you may break them a hundred times and yet they will
re -join’ confirms that saintly can regain their strength easily.

197. Option (2) is correct.

It is clearly stated in the passage that- “virtuous people and saints
are resilient. In contrast, negative people and clay pots are fragile;
once shattered, they are broken forever.” Those who are positive are
fragile and can be easily shattered by difficulties.

198. Option (3) is correct.

As per the passage, the winning attitude to overcome despair and
stress is to realise that adversities have opportunities inherent in
them, and just like the eagle does not run away from the storm,
rather it uses the storm to its advantage, similarly, we also need to
face hardships as an opportunity to make ourselves stronger. the
ideal way of handling a difficult situation is by making the best use
of a situation to your advantage.

199. Option (4) is correct.

As per the passage, ‘When the storm starts blowing, the eagle
spreads its wings and uses the draft of the wind to rise higher and
higher in the sky. It does not run away from the storm, rather it uses
the storm to its advantage.” When there is a storm, an eagle flies
high above it, using its force.

200. Option (2) is correct.

The sentence ‘As we navigate through undesirable situations and
uncertainties, we find that negativities surrounding the problems
consume our mind’ affirm that when we face difficult times our
minds get overcome by negative thoughts. When we face difficult
times our minds get overcome by negative thoughts.



